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Tnpsc group I / ii preliminary  

MONTHLY TEST November 
BATCH V & KAMARAJAR BATCH 

 
1. Which of the following is/are true regarding drafting committee of the 

constituent Assembly? 
1. It was formed with Eight members 
2. Chairman of the committee was B. R. Ambedkar 
3. It was set up on August 29, 1946 
a. 1 only    b. 1 and 2 only   c. 2 only    
d. 1, 2 and 3 only  e. Answer not know 
murpay; eph;za rigapd; tiuTf; FOitg; nghWj;J gpd;tUtdtw;wpy; 
rhpahdJ / cz;ikahdJ vJ? 
1. ,J 8 cWg;gpdh;fSld; cUthf;fg;gl;lJ 
2. FOtpd; jiyth; gp.Mh;. mk;Ngj;fh; 
3. ,J Mf];;l; 29>1946 y; mikf;fg;gl;lJ 
a. 1 kl;Lk;   b. 1> 2 kl;Lk;   c. 2 kl;Lk; 
c. 1> 2> 3 kl;Lk;  e. tpil njhpatpy;iy 

 
2. Choose the right answer/answers about Indian constitution and its 

constituent assembly 
(i). 15 Women members were there in the assembly 
(ii). H.V.R. Iyengar was secretary of constituent assembly. 
a. i only    b. ii only    c. i and ii only  
d. None of the above e. Answer not know 
,e;jpa murpayikg;G kw;Wk; murpay; eph;za rigiag; nghWj;J rhpahd 
tpilfisj; Njh;T nra;f. 
(i) eph;za rigapy; 15 ngz; cWg;gpdh;fs; ,Ue;jdh; 
(ii) murpay; eph;za rigapd; nrayuhf HVR Iaq;fhu; nray;gl;lhh; 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii 
d. VJTkpy;iy  e. tpil njhpatpy;iy 
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3. Assertion (A) : Indian constitution was adopted by constituent assembly on 
26th November 1949. 
Reason (R): Congress unofficially declared 26th November as Day of Poorna 
Swaraj in 1930 
a. (A) is false, (R) is true 
b. (A) is true, (R) is false 
c. Both (A) and (R) are true, but (R) is not a correct explanation of (A) 
d. Both (A) and (R) are true, but (R) is a correct explanation of (A) 
e. Answer not known 
$wW (A): ,e;jpa murpayikg;G> murpay; eph;za rigahy; etk;gh; 26>1949 
y; Kbf;fg;ngw;wJ 
fhuzk; (R): fhq;fpu]; mjpfhug;G+h;tkw;w Kiwapy; 1930 etk;gh; 26 Mk; 
Njjpia G+h;z Rtuh[; Mf mwptpj;jJ. 
a. (A) jtW (R) rhp 
b. (A) rhp> (R) jtW 
c. (A), kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) MdJ (A) d; rhpahd 

tpsf;fky;y 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) MdJ (A) d; rhpahd 

tpsf;fkhFk; 
e. tpil njhpatpy;iy  

 
4. Under the Indian constitution, one can lose Indian citizenship by, 

1. Renunciation  2. Termination  3. Deprivation 
a. 1 and 3 only  b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2, 3   e. Answer not known 
,e;jpa murpayikg;G rl;lg;gb> xUth; vt;thW ,e;jpaf; FbAhpikia 
,of;fyhk;? 
1. FbAhpikia Jwj;jy;. 
2. FbAhpikia KbTf;F tUjy;. 
3. FbAhpik kWj;jy;. 
a. 1 kw;Wk; 3 kl;Lk; b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
5. Swetha makes a fixed deposit of Rs. 25,000 in a bank for 2 years. If the rate of 

interest is 4% per annum, find the maturity value. 
a. ` 27,000  b. ` 25,700   c. ` 32,500   
d. ` 33,000  e. Answer not known 
];Ntjh Mz;L tl;b tPjk; 4% jUk; xU tq;fpapy; &.25>000-I 2 
Mz;LfSf;F epue;ju ,l;L itg;Gj;jpl;lj;jpy; KjyPL nra;jhh;. mJ 
KbtilAk; NghJ mtUf;F fpilf;Fk; Kjph;T njhif vd;d? 

 a. ` 27,000  b. ` 25,700   c. ` 32,500   
d. ` 33,000  e. tpil njhpatpy;iy 
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6. Regarding Indian citizenship, consider the following statements: 
1. Constitution deals with Indian citizenship from articles 5 – 11 under part 

II. 
2. Indian constitution is federal, dual polity and provides for dual 

citizenship. 
3. In India both citizen by birth and naturalized citizen are eligible for the 

office of president. 
Which of the above statement are wrong? 
a. 1 only                 b. 2 only                  c. 1 and 3 only            
d.1,2 and 3          e. Answer not known     
,e;jpaf; FbAhpik Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,e;jpaf; FbAhpik gw;wp murpayikg;gpd; ,uz;lhtJ gFjpapy; 5 Kjy; 

11 tiuapyhd ruj;Jfs; Fwpg;gpLfpd;wd. 
2. ,e;jpa murpayikg;ghdJ> $l;lhl;rp mikg;G> ,ul;il murhq;fk; kw;Wk; 

,ul;ilf; FbAhpikiaf; nfhz;Ls;sJ. 
3. gpwg;ghNyh my;yJ ,ay;ghNyh FbAhpik ngWk; ve;jnthU FbkfDk; 

FbauRj; jiytuhf jFjp ngw;wth; Mthh;. 
Nkw;fz;l $w;Wfspy; jtwhdit vit? 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
7. Choose the correct statements about Vasippu Iyakkam 

1. The campaign seeks to nurture reading habit among college students. 
2. The books have been divided into four levels under the title ‘Oru Kadhai, 

Oru Puthagam and 16 pakkam’ 
3. The objective of the scheme is to help students pick up reading habit by 

setting up libraries in class room 
a. 1, 2   b. 2, 3    c. 1, 3 
d. 1, 2, 3  e. Answer not known 
thrpg;G ,af;fk; gw;wpa rupahd mwpf;iffisj; Nju;e;njLq;fs; 
1. ,e;j gpur;rhuk; fy;Y}up khztu;fspilNa thrpg;Gg; gof;fj;ij tsu;f;f 

toptif nra;fpwJ 
2. 'xU fij> xU Gj;jfk; kw;Wk; 16 gf;fk;' vd;w jiyg;gpy; Gj;jfq;fs; 

ehd;F fl;lq;fshf itf;fg;gl;Ls;sd 
3. tFg;giwapy; E}yfq;fis mikg;gjd; %yk; khztu;fs; thrpg;Gg; 

gof;fj;ij tsu;j;Jf; nfhs;s cjTtNj ,j;jpl;lj;jpd; Nehf;fkhFk;. 
a. 1, 2   b. 2, 3    c. 1, 3 
d. 1, 2, 3  e. tpil njhpatpy;iy 
 

8. Choose the correct statements about Tide Turners Plastic Challenge 
1. Reducing plastic use among school and college students 
2. The government has collaborated with the UNEP for the initiative 
3. The programme will be implemented in three levels – entry, leadership 

and championship through eco-clubs in private and government schools 
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a. 1, 2   b. 2, 3     c. 1, 2, 3   
d. 1, 3   e. Answer not known 
ill; lu;du;]; gpsh];bf; rthy; gw;wpa rupahd mwpf;iffisj; Nju;T 
nra;aTk; 
1. gs;sp kw;Wk; fy;Y}up khztu;fspilNa gpsh];bf; gad;ghl;il Fiwj;jy; 
2. ,e;j Kaw;rpf;F murhq;fk; UNEP mikg;Gld; Nrh;e;J nra;ag;gLfpwJ 
3. ,e;jj; jpl;lk; jdpahu; kw;Wk; muRg; gs;spfspy; Rw;Wr;R+oy; Kfhk;fs; 

%yk; EioT> jiyik kw;Wk; ntw;wp (rhk;gpad;~pg;) Mfpa %d;W 
epiyfspy; nray;gLj;jg;gLk;. 

a. 1, 2   b. 2, 3     c. 1, 2, 3   
d. 1, 3   e. tpil njhpatpy;iy 

 

9. Arrange in chronological order 
1. TN Planning Commission. 
2. Slum Clearance Board. 
3. Report of Rajamannar Commission 
4. SIPCOT. 
a. 2 – 3 – 1 – 4   b. 2 – 4 – 1 - 3  c. 3 – 2 – 1 – 4  
d. 4 – 1 – 3 – 2   e. Answer not known 
fhythpirg;gLj;Jf. 
1. jkpo;ehL jpl;lf;FO 
2. Fbirkhw;W thhpak; 
3. uh[kd;dhh; FO mwpf;if 
4. rpg;fhl; (SIPCOT) 
a. 2 – 3 – 1 – 4   b. 2 – 4 – 1 - 3  c. 3 – 2 – 1 – 4  
d. 4 – 1 – 3 – 2   e. tpil njhpatpy;iy 

 

10. Which among the following are considered as federal features of the Indian 
constitution? 
1. Written constitution 
2. Division of powers 
3. Integrated judiciary 
4. Bicameralism 
5. Unequal representation of states 
6. Supremacy of constitution 
a. 1, 2, 3 and 4 only  b. 1, 2, 3, 4, 5 and 6 only   
c. 1, 2, 3, 4, and 6 only  d. 1, 2, 4 and 6 only  
e. Answer not known 
gpd;tUtdtw;wpy; vit ,e;jpa murpayikg;gpd; $l;lhl;rp ,ay;Gfshf 
fUjg;gLfpd;wd? 
1. vOjg;gl;l murpayikg;G 
2. mjpfhug; gq;fPL 
3. xUq;fpize;j ePjpj;Jiw 
4. <uit rl;lkd;w Kiw 
5. khepyq;fspd; rkepiyaw;w gpujpepjpj;Jtk;. 
6. murpayikg;gpd; Nkyhd jd;ik 
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a. 1> 2> 3 kw;Wk; 4 kl;Lk; b. 1> 2> 3> 4> 5 kw;Wk; 6 
c. 1> 2> 3> 4 kw;Wk; 6 kl;Lk; d. 1> 2> 4 kw;Wk; 6 kl;Lk; 
e. tpil njhpatpy;iy 
 

11. Find the rate percent per annum when a principle of Rs.7,000 earns a simple 
interest Rs. 1680 in 16 months 
a. 18%  b. 8%     c. 12%   
d. 10%  e. Answer not known 
& 7>000 mrYf;F 16 khjq;fSf;F 1680 jdptl;b fpilj;jhy;> tl;b 
tPjj;ijf; fz;Lgpb. 
a. 18%  b. 8%     c. 12%   
d. 10%  e. tpil njhpatpy;iy 

 
12. Consider the following statements regarding the Indian constituent 

assembly: 
1. It held its first meeting on 9th December 1946. 
2. It is composed of members along the lines suggested by Cripps mission. 
3. On 26th November 1949, 284 members were present and appended their 

signature. 
Which of the above statement is/are correct? 
a. 1 and 2 only  b. 2 and 3 only  c. 1 and 3 only 
d. 1, 2, and 3  e. Answer not known 
,e;jpa murikg;G eph;za rig Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. mjd; Kjy; $l;lk; 9 brk;gh; 1946 md;W $baJ. 
2. fphpg;]; FO Kd;nkhope;jjd; mbg;gilapy; mjd; cWg;gpdh;fs; thpir 

mike;jJ. 
3. 26 etk;gh; 1949 md;W> mq;F te;jpUe;j 284 cWg;gpdh;fs; murikg;gpid 

Vw;W ifnahg;gkpl;ldh;. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk; b. 2 kw;Wk; 3 kl;Lk; c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

          
13. Consider the following pairs: 

Constitutional provision source 
1. DPSP    - Irish 
2. Rule of law   - Britain 
3. Justice    - French 
4. Amendment procedure - Australia 
Which of the above pairs are correctly matched? 
a. only one pair  b. only two pairs  c. only three pairs 
d. All four pairs  e. Answer not known 
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gpd;tUk; ,izfis Ma;f. 
murikg;G tpjp   %yk; 
1. topfhl;L newpKiwfs; - mah;yhe;J 
2. rl;lj;jpd; Ml;rp   - gphpl;ld; 
3. ePjp     - gpuQ;R 
4. murikg;G jpUj;j Kiw - M];jpNuypah 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; 

c. %d;W ,izfs; kl;Lk; d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 

         
14. Which of the following electoral system have been adopted for various 

election in India. 
1. System of direct election on the basis of Universal adult franchise. 
2. List system of proportional representation. 
3. System of proportional representation by means of single transferable 

vote. 
4. Cumulative system of Indirect elections. 
Which of the above are correct? 
a. 1 and 2 only  b. 1 and 3 only   c. 1, 2, 3 only 
d. 1, 3 and 4   e. Answer not known 
gpd;tUtdtw;Ws; ntt;NtW Njh;jy;fSf;fhf ,e;jpahtpy; nray;gLj;jg;gLk; 
Njh;jy; Kiwfs; vit? 
1. taJ te;Njhh; thf;Fhpik %yk; Neub Njh;jy; Kiw 
2. gl;bay; tpfpjhr;rhu gpujpepjpj;Jt Kiw  
3. xw;iw khw;W thf;F mbg;gilapyhd tpfpjhr;rhu gpujpepjpj;Jt Kiw. 
4. njhFf;fg;gl;l kiwKf Njh;jy; Kiw 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk;  c. 1> 2> 3 kl;Lk; 
d. 1> 3> 4 kl;Lk;  e. tpil njhpatpy;iy 
 

15. Consider the following pairs: 
Personality    Position in the constituent assembly 
1. Dr. Sachidanand Sinha -  President of the constituent assembly 
2. B.N. Rau    -  Constitutional advisor 
3. H.C. Mukherjee  - Vice president of the constituent assembly 
4. Dr.B.R. Ambedkar  -  Drafting committee, chairman 
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
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gpd;tUk; ,izfis Ma;f. 
egh;     murikg;G eph;za rigapy; jFjp 
1. Dr. rr;rpjhde;j rpd;fh - murikg;G eph;za rigapd; jiyth; 

2. B.N. uht;   - murpayikg;G MNyhrfh; 

3. H.C. Kfh;[p  -  murikg;G eph;za rigapd; Jizj; jiyth; 
4. Dr. B.R. mk;Ngj;fh; - rl;l tiuTf; FO jiyth; 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk; b. ,U ,izfs; kl;Lk; c. %d;W ,izfs; kl;Lk; 

d. midj;J ,izfSk; e. tpil njhpatpy;iy 
 
16. Two whole numbers whose sum is 72 can be in the ratio  

a. 5 : 7   b. 5 : 8   c. 9 : 5   
d. 9 : 8  e. Answer not known 
,U KO vz;fspd; $Ljy; 72 vdpy; mt;tpU vz;fspd; tpfpjk; vd;dthf 
,Uf;f tha;g;Gs;sJ?  
a. 5 : 7   b. 5 : 8   c. 9 : 5   
d. 9 : 8  e. tpil njhpatpy;iy 

 
17. Select the correct statements 

1. Odisha chief-minister Naveen Patnaik becomes the second longest 
serving chief-minister in India 

2. Pawan Kumar Chamling, the former chief-minister of Sikkim is the 
longest serving chief minister after independence 

a. 1 only    b. 2 only    c. Both 1, 2 
d. None of these  e. Answer not known 
rupahd mwpf;iffisj; Nju;e;njLf;fTk; 
1. xbrh Kjyikr;rh; etPd; gl;ehaf;> ,e;jpahtpy; mjpf fhyk; gjtp tfpj;j 

,uz;lhtJ Kjy;th;. 
2. rpf;fpk; khepyj;jpd; Kd;dhs; Kjy;tu; gtd; Fkhu; rhk;ypq; Rje;jpuj;jpw;Fg; 

gpwF mjpf fhyk; Kjy;tuhf ,Ue;jtu;. 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. ,uz;LNk 1> 2  
d. ,it vJTk; ,y;iy e. tpil njhpatpy;iy 

 
18. Which of the following statements are correct? 

1. Gig workers are those who work in permanent jobs, typically in the 
service sector as an independent contractor or freelancer like Swiggy or 
Zomato 

2. Rajasthan became the first state in the country to pass a law to provide 
social security to gig workers 

a. 1 only   b. 2 only    c. both 1, 2 
d. None of these  e. Answer not known 
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gpd;tUk; $w;Wfspy; vJ rupahdJ? 
1. fpf; njhopyhsu;fs; vd;gJ epue;ju Ntiyfisr; nra;gtu;fs;> nghJthf 

Nritj; Jiwapy; Swiggy my;yJ Zomato Nghd;W Ra xg;ge;jhuh;fshf 
my;yJ Rakhf Ntiy nra;gth;fs;. 

2. fpf; njhopyhsu;fSf;F r%fg; ghJfhg;G toq;Ftjw;fhd rl;lj;ij 
,aw;wpa ehl;bd; Kjy; khepykhf uh[];jhd; MdJ 

a. 1 kl;Lk;     b. 2 kl;Lk;    c. ,uz;Lk; 1> 2  

d. ,it vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

19. Assertion(A): When an Indian citizen voluntarily acquires the citizenship of 
 another country, his Indian citizenship automatically terminates. 
Reason(R): India adopts the policy of single citizenship. 
a. Both (A), (R) are correct and (R) is the correct explanation of (A) 
b. Both (A) and (R) are correct and (R) is not the correct explanation of (A) 
c. (A) is true, but (R) is false. 
d. (A) is false, but (R) is true 
e. Answer not known 
$w;W (A): xU ,e;jpaf; Fbkfd; NtW xU ehl;by; FbAhpik ngWk;NghJ 
jhkhfNt ,e;jpaf; FbAhpik KbTf;F te;JtpLk;. 
fhuzk; (R): ,e;jpah xw;iwf; FbAhpik Kiwiaf; filgpbf;fpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R)> (A) tpw;F rhpahd tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

          
20. With reference to preamble of the Indian constitution, consider the 

following statements: 
1. It contains summary or preface of the constitution. 
2. It clearly implies that the constitution derives authority from people of 

India. 
3. In Kesavananda Bharati case, 1973, supreme court proclaimed it as an 

integral part of constitution. 
4. It is justiciable in court of law. 
Which of the statements is/are not correct? 
a. 1, 2 and 3    b. 2 only   c. 3 and 4 only 
d. 4 only   e. Answer not known 
,e;jpa murpayikg;gpd; KfTiu Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J murpayikg;gpd; RUf;fk; my;yJ rhuhk;rj;ijf; nfhz;lJ. 
2. ,J ,e;jpa murpayikg;G jdJ mjpfhuj;ij kf;fsplkpUe;J ngWtijj; 

njspTgLj;JfpwJ. 
3. 1973 Nfrtde;j ghujp tof;fpy;> cr;rePjpkd;wk; ,ij murpayikg;gpd; 

xUq;fpize;j gFjpahf mwptpj;jJ. 
4. ,J ePjpkd;wj;jpy; tof;fpl;L epiyehl;lf; $baJ. 



 

9 | Page APPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 
 

Nkw;$wpa $w;Wfspy; jtwhdJ/it vJ/vit? 
a. 1> 2> 3    b. 2 kl;Lk;   c. 3 kw;Wk; 4 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

21. With reference to State Re-organization Commission, consider the following 
statements: 
1. Fazl Ali, Kunzru are the only members of this commission. 
2. It submitted its report in September 1955. 
3. It advocated one language one state theory. 
4. It identified linguistic and cultural homogeneity is important. 
Which of the above statements is/are correct? 
a.1 and 2 only  b. 1, 2 and 3 only   c. 2 and 4 only 
d. 1, 2 and 4 only  e. Answer not known 
khepy kWrPuikg;G Mizak; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. gry; myp kw;Wk; Fd;];U kl;LNk ,f;FOtpd; cWg;gpdh;fs;. 
2. ,f;FO jdJ mwpf;ifia nrg;lk;gh; 1955-y; rkh;gpj;jJ. 
3. ,f;FO xU nkhopf;F xU khepyk; vd;W tiuaWf;fpwJ. 
4. ,J nkhop kw;Wk; gz;ghl;L xj;j jd;ikia Kf;fpakhf typAWj;JfpwJ. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk; b. 1> 2 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 4 kl;Lk; 
d. 1> 2 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 

  

22. If p ∶ q ∶ r = 2 ∶ 5 ∶ 3 and r ∶ s = 6 ∶ 5, then what is the value of p ∶ q ∶ r ∶ s? 
a. 4 ∶ 12 ∶ 7 ∶ 3  b. 4 ∶ 10 ∶ 6 ∶ 5   c. 6 ∶ 5 ∶ 8 ∶ 10   
d. 8 ∶ 12 ∶ 7 ∶ 8 e. Answer not known 
p ∶ q ∶ r = 2 ∶ 5 ∶ 3 kw;Wk; r ∶ s = 6 ∶ 5 vdpy; p ∶ q ∶ r ∶ s ,d; kjpg;G fhz;f 
a. 4 ∶ 12 ∶ 7 ∶ 3  b. 4 ∶ 10 ∶ 6 ∶ 5   c. 6 ∶ 5 ∶ 8 ∶ 10   
d. 8 ∶ 12 ∶ 7 ∶ 8 e. tpil njhpatpy;iy 

 

23. Consider the following pairs: 
Name of the state  Its formation (Year) 
1. Sikkim  -  1975 
2. Haryana  -  1966 
3. Jharkhand -  2000 
4. Telangana -  2014 
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
khepyk;   cUthd Mz;L 
1. rpf;fpk;  - 1975 
2. `hpahdh  - 1966 
3. [hh;fz;l;  - 2000 
4. njYq;fhdh - 2014 
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Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,uz;L ,izfs; kl;Lk;  

c. %d;W ,izfs; kl;Lk; d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 
 

24. Choose the correct statements about Black Sea Grain initiative 
1. The grain deal was launched to prevent a global food emergency after 

brokered by the UN and Turkey 
2. Russia halted participation in the UN-brokered deal that lets Ukraine 

export grain through the Black Sea 
a. 1 only   b. 2 only    c. both 1, 2 
d. None of these  e. Answer not known 
fUq;fly; jhdpa Kd;Kaw;rp gw;wpa rupahd mwpf;iffisj; Nju;T 
nra;aTk; 
1. I.eh. rig kw;Wk; JUf;fpahy; cyfshtpa czT neUf;fbia jLf;f 

Kd;ndLf;fg;gl;lNj ,e;j jhdpa xg;ge;jk; MFk; 
2. I.eh. mikg;gpdhy; Kd;ndLf;fg;gl;l cf;iud; ehL fUq;fly; topahf 

jhdpa Vw;Wkjpia mDkjpf;Fk; cld;gbf;ifapypUe;J u~;ah 
tpyfpAs;sJ. 

a. 1 kl;Lk;     b. 2 kl;Lk;    c. ,uz;Lk; 1> 2  
d. ,it vJTk; ,y;iy  e. tpil njhpatpy;iy 

 
25. Assertion (A): Rajaji started Swatantara Party in 1959. 

Reason (R): Rajaji opposed land reforms introduced by Government of 
India. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false 
d. (A) is false, (R) is true 
e. Answer not known 
$w;W (A): uh[h[p 1959 ,y; Rje;jpuh fl;rpia njhlq;fpdhh;. 
fhuzk; (R): ,e;jpa murhq;fj;jhy; nfhz;L tug;gl;l epyrPh;jpUj;j 

eltbf;iffis uh[h[p vjph;j;jhh;. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 

b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 

c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 

26. Choose correct statement regarding All India Women’s Conference (AIWC) 
1. AIWC is a NGO 
2. AIWC works for progress of Women and Children 
3. AIWC established First Home Science College in 1932. 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
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(AIWC) midj;jpe;jpa ngz;fs; khehl;ilg; nghWj;J rhpahd $w;Wf;fis 
MuhaTk;. 
1. AIWC xU NGO MFk;  
2. AIWC ngz;fs; kw;Wk; Foe;ijfspd; eyDf;fhf NghuhLfpwJ. 
3. AIWC Kjy; kidapay; fy;Y}hpia (Home Science College) 1932y; 

njhlq;fpaJ. 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

27. If the principal is Rs. 30,000, r = 7% for I year, r = 8% for II year compounded 
annually then the compound interest is 
a. Rs. 5,668  b. Rs. 3668    c. Rs. 6668  
d. Rs. 4668  e. Answer not known 
mry; &. 30>000 Kjyhk; Mz;L tl;b tPjk; r = 7% ,uz;lhk; Mz;L tl;b 
tPjk; r = 8% Mz;Lf;F xU Kiw tl;bf; fzf;fplg;gLfpwJ vdpy; $l;L 
tl;b  
a. &. 5>668  b. &. 3668    c. &. 6668  

d. &. 4668  e. tpil njhpatpy;iy 
 

28. Consider the following statements 
1.The constituent assembly was set up under the cabinet mission plan, 1945. 
2.The assembly constituted 389 members. 
3.The assembly held its first meeting on 9 December, 1947. 
4.HC Mukherjee and VT Krishnamachari were elected as Vice Presidents. 
a. 1, 2 are correct  b. 2, 3 are correct   c. 1, 3 are correct 
d. 2, 4 are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. 1945 Mk; Mz;L mikr;ruitj; J}Jf; FO jpl;lj;jpd; fPo; ,e;jpa 

murpay; eph;za rig cUthf;fg;gl;lJ. 
2. ,r;rigapy; nkhj;jk; 389 cWg;gpdh;fs; ,Ue;jdh; 
3. murpay; eph;za rigapd; Kjy; $l;lk; 9 brk;gh; 1947y; eilngw;wJ 
4. HC Kfh;[p kw;Wk; VT fpU~;zkhr;rhhp Mfpa ,UtUk; 

Jizj;jiyth;fs; Mth; 
a. 1> 2 rhp   b. 2> 3 rhp    c. 1>3 rhp 
d. 2> 4 rhp   e. tpil njhpatpy;iy  

 
29. Consider the following statements 

1. The constitution was adopted on 26 November, 1949. 
2. It contained XX parts, 395 articles and 8 schedules. 
3. The constitution came into force on 26 January, 1950. 
a. 1, 3 are correct  b. 1, 2 are correct   c. 2, 3 are correct 
d. All are correct  e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f 
1. ,e;jpa murpayikg;G 1949> etk;gh; 26 y; Vw;Wf;nfhs;sg;gl;lJ 
2. ,J XX ghfq;fs;> 395 ~uj;Jfs; kw;Wk; 8 ml;ltizfisf; nfhz;lJ 
3. 1950 [dthp 26 ,e;jpa murpayikg;G eilKiwf;F te;jJ 
a. 1> 3 rhp   b. 1> 2 rhp    c. 2> 3 rhp 
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
 

30. Consider the following statements 
1. Prem Behari Narain Raizada was the calligrapher of Indian constitution. 
2. Raizada was asked by Ambedkar to write out the First Copy 

a. 1 is correct  b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. gpNuk; ng`hhp eNud; iurlh vd;gtuhy; ,e;jpa murpayikg;G ifg;gl 

vOjg;gl;lJ  
2. Kjy; gpujpia iurlhit ifg;gl vOJkhW mk;Ngj;fh; Nfl;Lf;nfhz;lhh; 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

31. Consider the following statements 
1. Liberty, equality and fraternity were the important slogans during 

French revolution of 1789. 
2. They are incorporated in article 14 of Indian constitution. 
a. 1 is correct  b. 2 is correct  c. Both are correct 

 d. Both are wrong  e. Answer not known 
gpd;tUk;  $w;Wfis Muha;f 
1. 1789 Mz;L gpnuQ;R  Gul;rpapd; NghJ Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; 

Mfpait Kf;fpa Kof;fq;fs; Mapd. 
2. mit ,e;jpa murpayikg;gpd; ~uj;J 14 y; ,izf;fg;gl;Ls;sd. 
a. 1 rhp   b. 2 rhp    c. ,uz;Lk; rhp 

d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 
32. Match the following 

A. JIMEX 23   1. Japan – India Maritime Exercise 
 B. SALVEX   2. India and US Naval Exercise 
 C. Nomadic Elephant 3. India – Indonesia Naval Exercise 
 D. MPX Joint Exercise 4. India – Mongolia Military Exercise 
  A B C D 
 a. 1 2 3 4 
 b. 1 2 4 3 
 c. 2 1 3 4 
 d. 2 1 4 3 

e. Answer not known 
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gpd;tUtdtw;iwg; nghUj;jTk; 
A. JIMEX 23   1. [g;ghd; - ,e;jpah fly;rhu; $l;L gapw;rp.  

B. SALVEX   2. ,e;jpah kw;Wk; mnkupf;f flw;gil $l;L gapw;rp 
C. Nomadic Elephant 3. ,e;jpah - ,e;NjhNdrpah flw;gil gapw;rp 

D. MPX $l;Lg; gapw;rp  4. ,e;jpah - kq;Nfhypah ,uhZtg; gapw;rp 
  A B C D 
 a. 1 2 3 4 
 b. 1 2 4 3 
 c. 2 1 3 4 
 d. 2 1 4 3 

e. tpil njhpatpy;iy 
 
33. In a Laboratory, the count of bacteria in a certain experiment was increasing 

at the rate of 2.5% per hour. Find the bacteria at the end of 2 hours if the 
count was initially 5,05,600.  
a. 531196  b. 539611    c. 511396  
d. 539116  e. Answer not known 
xU Ma;tfj;jpy; xU Fwpg;gpl;l Nrhjidapy; ghf;Bhpahf;fspd; vz;zpf;if 
kzpf;F 2.5% tPjk; mjpfhpj;J tUfpwJ. Muk;gj;jpy; ghf;Bhpahf;fspd; 
vz;zpf;if 5>05>600 Mf ,Ue;jhy; 2 kzp Neu Kbtpy; ghf;Bhpahf;fspd; 
vz;zpf;if vt;tsT? 
a. 531196  b. 539611    c. 511396  
d. 539116  e. tpil njhpatpy;iy 

 
34. How many pairs are correctly matched? 

1. Grand Cross of the Legion of Honour – Narendra Modi 
2. Asian Chess Excellence Award 2023 (Man of the Year) – M.K. Stalin 
3. Bose Lifetime Achievement Award – Rajasekaran  
4. Order of Arts and Letters Award – Aruna Sairam and Shashank 

Subramanyam 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs  e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahf nghUe;jpa ,izfs; vj;jid? 
1. fpuhz;l; fpuh]; M/g; jp yP[pad; M/g; `hdu; - eNue;jpu Nkhb 
2. Mrpa rJuq;f tpisahl;L rpwg;G tpUJfs; 2023 (,e;j Mz;bd; rpwe;j 

egh;) - K.f.];lhypd; 
3. Ngh]; tho;ehs; rhjidahsu; tpUJ - uh[Nrfud; 
4. Mu;lu; M/g; Mu;l;]; mz;l; nyl;lu;]; tpUJ - mUzh rha;uhk; kw;Wk; 

~~hq;f; Rg;ukzpak; 
a. xU ,iz   b. ,uz;L ,izfs;   c. %d;W ,izfs;  
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
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35. Match the following 
Book     Author 
A. Maya, Modi, Azad  1. Nasima Maraikayar and Y.S. Rajan 
B. Prism : The Ancestral  
Abode of Rainbow  2. Sudhapai and sajjan Kumar 
C. Through the Broken   3. Vinod Mankara 
Glass : An Autobiography 
D. Memories Never Die  4. T.N. Seshan 
 A B C D 
a. 2 3 4 1 
b. 2 3 1 4 
c. 2 1 4 3 
d. 2 4 3 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;jTk; 
E}y;        Mrpupau; 
A. khah> Nkhb> Mrhj;  1. erpkh kiuf;fahu; kw;Wk; 

Y.S.uh[d;  
B. g;up]k;: thdtpy;ypd; %jhijau;  
jq;Fkplk;       2. Rjhgha; kw;Wk; r[;[d; Fkhu; 
C. cile;j fz;zhbapd; %yk;   3. tpNdhj; kq;fuh  

xU Rarupij 
D. epidTfs; xUNghJk; ,wf;fhJ   4. T. N. Nr~d; 

 A B C D 
a. 2 3 4 1 
b. 2 3 1 4 

c. 2 1 4 3 
d. 2 4 3 1 

e. tpil njhpatpy;iy 
 
36. “Thiranarinthu Solluga Sollai Aranum 

Porulum Athaninoongu ill”. 
Under which section of Thirukkural does this Kural appear? 
a. Panpudaimai  b. Vinai Seyal Vagai  c. Solvanmai 
d. Vinaithooimai  e. Answer not known 
“jpwdwpe;J nrhy;Yf nrhy;iy mwDk; 
nghUSk; mjdpD}cq;F ,y;” 
vd;w Fws; ,lk; ngw;Ws;s mjpfhuk; vJ? 
a. gz;Gilik  b. tpid nray; tif  c. nrhy;td;ik 
d. tpidj; J}a;ik e. tpil njhpatpy;iy 
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37. Arrange the Premier of Madras presidency in chronological order. 
1. Ramakrishna Ranga Rao 2. Panangati  Ramarayaningar 
3. P.T. Rajan   4. Munusamy Naidu 
a. 1 – 2 – 3 – 4  b. 2 – 4 – 1 - 3    c. 2 – 1 – 4 – 3  
d. 1 – 2 – 4 – 3  e. Answer not known 
kjuh]; khfhzj;jpd; Kjy;th;fis fhythpirg;gLj;Jf. 
1. uhkfpU~;z uq;fh uht; 2. gdfl;b uhkuhaepq;fh; 
3. PT uh[d;    4. KDrhkp ehAL 
a. 1 – 2 – 3 – 4  b. 2 – 4 – 1 - 3    c. 2 – 1 – 4 – 3  
d. 1 – 2 – 4 – 3  e. tpil njhpatpy;iy 

 
38. Vaideesh deposits ` 500 at the beginning of every month for 5 years in a 

post office.  If the rate of interest is 7.5%.  Find the amount he will receive at 
the end of 5 years. 
a. ` 35718.75 b. ` 37518.75   c. 37581.75   
d. 35817.75  e. Answer not known 
itjP]; vd;gtu; ` 500I xt;nthU khjj; njhlf;fj;jpYk; Xu; mQ;ryfj;jpy; 
5 Mz;LfSf;Fr; nrYj;Jfpwhu;.  tl;b tPjk; 7.5% vdpy; 5 Mz;Lfs; 
Kbtpy; mtu; ngWk; njhif vt;TsT? 
a. ` 35718.75 b. ` 37518.75   c. 37581.75   
d. 35817.75  e. tpil njhpatpy;iy 

 
39. Choose correct statement/s regarding self-respect marriages. 

1. Legalised by amending Hindu Marriage Act in 1967. 
2. Section 7A was introduced in the Act. 
3. Act passed on November 27, 1967. 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
Rakhpahijj; jpUkzq;fisg; nghWj;J rhpahd $w;W / $w;Wfisj; 
Njh;e;njLf;fTk;. 
1. ,e;J jpUkzr; rl;lk; 1967 I jpUj;jp rl;lg;G+h;tkhf;fg;gl;lJ. 
2. ,r;rl;lj;jpy; gphpT 7A mwpKfg;gLj;jg;gl;lJ. 
3. rl;lk; etk;gh; 27> 1967y; ,aw;wg;gl;lJ. 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

40. Consider the following statements 
1. The word citizen is derived from Greek word “civis” 
2. Article 5 to 11 of part I deals with citizenship. 
a. 1 is correct  b. 2 is correct   c. Both are correct 
 d. Both are wrong  e. Answer not known 
gpd;tuk; $w;Wfis Muha;f 
1. rpl;brd; vd;w thh;j;ij “rptp];” vd;w fpNuf;f thh;j;ijapypUe;J 
ngwg;gl;lJ 
2. gFjp I ~uj;J 5 – 11 FbAhpikg; gw;wp $WfpwJ 
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a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

41. Consider the following statements 
1. The preamble is based on “Instrument of Instructions” mentioned in 

Government of India Act, 1935. 
2. Preamble is amended only once in 1978. 
a. 1 is correct  b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. KfTiu> 1935 ,e;jpa muRr; rl;lj;jpy; Fwpg;gplg;gl;l ‘mwpTWj;jy; 

fUtp’ mbg;gilapyhdJ 
2. KfTiu> 1978y; xU Kiw jpUj;jk; nra;ag;gl;lJ. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

42. Consider the following statements 
1. The drafting committee was set up on August 30, 1947. 
2. The 12th session of constituent assembly was held on January 24, 1950. 
a. 1 is correct  b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. tiuTf; FO Mf];l; 30> 1947y; mikf;fg;gl;lJ 
2. murpay; eph;za rigapd; 12tJ mkh;T [dthp 24> 1950y; eilngw;wJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy   
 

43. Why the framers of Indian constitution adopted for the parliamentary form 
of government? 
1. Familiarity with the system. 
2. Preference to more responsibility 
3. Need to avoid legislative- executive conflicts. 
a. All are correct   b. 1, 2 are correct  c. 2, 3 are correct 
d. 1,3 are correct   e. Answer not known 
,e;jpa murpayikg;gpid cUthf;fpath;fs; Vd; ehlhSkd;w Kiw 
murhq;fj;ij Vw;wdh;? 
1. ehlhSkd;w Kiw murhq;fj;jpy; ghpr;rak; cz;L. 
2. mjpf nghWg;Gzh;Tf;ffhd tpUg;Ghpik 
3. rl;lkd;wj;jpw;Fk;> nrayhl;rpf;Fk; ,ilNaahd gpur;ridfisj; jtph;f;f 

Ntz;bajd; mtrpak; 
a. midj;Jk; rhp   b. 1> 2 rhp   c. 2> 3 rhp 
d. 1> 3 rhp    e. tpil njhpatpy;iy 
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44. How much interest will Rs. 10,000 earn in 9 months at an annual rate of 6 
per cent? 
a. 250    b. 350     c. 450   
d. 415   e. Answer not known 
& 10,000-f;F Mz;bw;F 6% tl;b tPjk; vdpy;> 9 khjq;fSf;fhd jdp 
tl;bia fhz;f.  
a. 250    b. 350     c. 450   
d. 415   e. tpil njhpatpy;iy 
 

45. Choose the incorrect statements about PSLV C-56 
1. PSLV C-56 rocket carrying seven Singaporen satellites 
2. ISRO mission is being undertaken by its commercial arm INSPACE 
a. 1 only   b. 2 only    c. both 1, 2 
d. None of these  e. Answer not known 
PSLV C-56 gw;wpa jtwhd mwpf;iffisj; Nju;T nra;aTk; 

1. PSLV C56 tpz;fyk; rpq;fg;g+iur; rhh;e;j VO nraw;iff;Nfhs;fis 
tpz;zpy; nrYj;jpaJ 

2. ,];Nuhtpd; ,j;jpl;lk; mjd; tzpfg;gphpthd INSPACE %yk; 
Nkw;nfhs;sg;gLfpwJ. 

a. 1 kl;Lk;    b. 2 kl;Lk;     c. ,uz;Lk; 1> 2  
d. ,it vJTk; ,y;iy e. tpil njhpatpy;iy 

 
46. Choose the correct statements about Chandrayaan – 3  

1. Chandrayaan-3 used LVM3 rocket for launching into space 
2. Chandrayaan-3 became the world’s first mission to soft land near lunar 

southpole 
3. India became the fourth country to soft land on moon 
4. Project Director of Chandrayaan-3 was Veeramuthuvel 
a. 1, 2    b. 2, 3, 4    c. 1, 3, 4  
d. All the above  e. Answer not known 
re;jpuahd; - 3 gw;wpa rupahd mwpf;iffisj; Nju;T nra;aTk; 
1. re;jpuahd;-3 jpl;lj;jpy; LVM 3 vd;w tpz;fyk; nraw;ifNfhis 

tpz;zpy; nrYj;j gad;gLj;jg;gl;lJ 
2. re;jpuahd;-3> re;jpudpd; njd;JUtj;jpw;F mUfpy; nkd;ikahd 

epyj;jpw;fhd cyfpd; Kjy; gzpahFk; 
3. epytpy; nkd;ikahf jiuapwq;fpa ehd;fhtJ ehL ,e;jpah 
4. re;jpuahd;-3 jpl;l ,af;Fdu; tPuKj;JNty; 
a. 1, 2    b. 2, 3, 4    c. 1, 3, 4  
d. ,it midj;Jk; e. tpil njhpatpy;iy 
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47. Which couplet does not belongs to the chapter “Conduct in the Presence of 
the King” 

a. Seek not, ask not, the secret of the king to hear; 
But if he lets the matter forth, give ear!. 

b. Say not, 'He's young, my kinsman,' despising thus your king; 
But reverence the glory kingly state doth bring. 

c. All whispered words and interchange of smiles repress, 
In presence of the men who kingly power possess. 

d. If discord finds a place midst those who dwelt at one before, 
'Tis ever hard to keep destruction from the door. 

e. Answer not known 
‘kd;diur; Nru;e;J xOfy;’ vd;Dk; mjpfhuj;jpy; ,lk;ngwhj jpUf;Fws; 
a. vg;nghUSk; Xuhu; njhlhu;kw;W mg;nghUis 

tpl;lf;fhy; Nfl;f kiw 
b. ,isau; ,dKiwtu; vd;W,fohu; epd;w 

xspNahL xOfg; gLk; 
c. nrtpr;nrhy;Yk; Nru;e;J eifAk; mtpj;JxOfy; 

md;w ngupahu; mupJ 
d. xd;whik xd;wpahu; fz;gbd; vQ;Qhd;Wk; 

nghd;whik xd;wy; mupJ 
 e. tpil njhpatpy;iy 
 
48. 'Each hindrance shun', 'unyielding onward press, If obstacle be there,'  

These two define your way, so those that search out truth declare. 
a. Power in Action   b. The Possession of Knowledge 
c. Restraining Anger  d. Fate 
e. Answer not known 
CWxuhy; cw;wgpd; xy;fhik ,t;tpuz;bd; 
MWvd;gu; Ma;e;jtu; Nfhs; 
a. tpidj;jpl;gk;  b. mwpTilik  c. ntFshik   
d. Co;   e. tpil njhpatpy;iy 

 
49. If   difference   between   compound   interest   and   simple   interest   for Rs. 

32,000 for 2 years is Rs. 20 then the rate of interest is 

a. 1
2

3
%  b. 1

2
2

    c. 1
6 %

4
  

d. 1
4 %

2
  e. Answer not known 

& 32>000 mrYf;F 2 Mz;LfSf;F fpilf;Fk; $l;Ltl;bf;Fk;> jdptl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; & 20 vdpy; tl;b tPjk; vt;tsT?  

a. 1
2

3
%  b. 1

2
2

     c. 1
6 %

4
  

d. 1
4 %

2
  e. tpil njhpatpy;iy 
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50. Choose the correct statements about Jawaharlal Nehru 
I. In 1912, he returned to India from England and started practiced as 

lawyer at the Allahabad Highcourt 
II. He attended the congress session in 1912 in Patna 
III. Nehru met Gandhi at Lucknow INC session in 1916 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
[t`h;yhy; NeU gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 1912Mk; Mz;L ,q;fpyhe;jpypUe;J ,e;jpahtpw;Fj; jpUk;gp myfhghj; 

cah;ePjpkd;wj;jpy; tof;fwpQh; gapw;rpiaj; njhlq;fpdhh;. 
II. ,th; 1912,y; ghl;dhtpy; eilngw;w fhq;fpu]; khehl;by; fye;J 

nfhz;lhh; 
III. 1916,y; yf;Ndhtpy; eilngw;w fhq;fpu]; khehl;by; fhe;jpiar; 

re;jpj;jhh; 
a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

51. Which of the following statements is/are correct about Bhagat Singh? 
I. In April 1926, Bhagat Singh established contact with Sohan Singh Josh 

and through him the ‘Kirti Kisan Party’ which brought out the 
monthly magazine Kirti in Punjabi. 

II. In 1927, Bhagat Singh joined the editorial board of Kirti. 
III. In 1928, Bagat Singh was first arrested on charges of association with 

the Kakori case. 
a. I, II   b. I, III    c. II, III 
d. I, II, III   e. Answer not known 
gfj;rpq; njhlh;ghd gpd;tUk; $w;WfSs; rhpahdJ vJ? 
I. Vg;uy; 1926 ,y;> gfj; rpq;> Nrh`hd; rpq; N[h~pald; njhlh;ig 

Vw;gLj;jp mth; %yk; gQ;rhgp nkhopapy; vOjg;gl;l fPh;j;jp vDk; khj 
,jio fPh;j;jp fp~hd; fl;rpahy; ntspaplitj;jhh; 

II. 1927 ,y; gfj;rpq; fPu;j;jpapd; Mrpupah; FOtpy; Nrh;e;jhh; 
III. 1928 ,y; fNfhhp tof;fpy; gfj;rpq; Kjypy; ifJ nra;ag;gl;lhh;. 
a. I, II   b. I, III    c. II, III 
d. I, II, III   e. tpil njhpatpy;iy  

 
52. Assertion (A): Erode Action Plan was released in 1932. 

Reason (R):  Periyar toured Europe and Russia in 1931. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false 
d. (A) is false, (R) is true 
e. Answer not known 
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$w;W (A):  <NuhL nray; jpl;lk; 1932y; ntspaplg;gl;lJ. 
fhuzk; (R): nghpahh; 1931y; INuhg;gh (kw;Wk;) u~;ahtpw;F  

Rw;Wg;gazk; Nkw;nfhz;lhh;. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 

b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
53. Anna resolution is associated with _____ 

a. name changing resolution of justice party into Dravidar Kazhagam in 
1944. 

b. Forming DMK party 
c. DMK contesting elections for first time in 1957. 
d. Resolution of changing Madras into Tamil Nadu in 1967. 
e. Answer not known 

mz;zh jPh;khdk; vjDld; njhlh;GilaJ? 
a. 1944y; ePjpf;fl;rpapd; ngaiu jpuhtplh; fofk; vdg; ngah; khw;w jPh;khdk;. 
b. jpKf fl;rp njhlf;fk; 
c. 1957y; jpKf Kjd;Kjypy; Njh;jypy; gq;Nfw;G. 
d. 1967y; kjuhi] jkpo;ehL vdg; ngah; khw;wj; jPh;khdk;. 
e. tpil njhpatpy;iy 

 
54. Which of the following are collectively referred to as the constitutional 

components of United Kingdom’s constitution? 
1. Customs 
2. Conventions 
3. Historical precedents 
a. 1 and 2 only  b. 2 and 3 only  c. 1 and 3 only 
d. 1, 2 and 3   e. Answer not known 
If;fpa ,uh[;[paj;jpd; murpayikg;gpy; gpd;tUtdtw;wpy; vit $l;lhf 
murpayikg;Gf; $Wfs; vd Fwpg;gplg;gLfpd;wd? 
1. rq;fk;   
2. kuG    
3. tuyhw;W Kd;Djhuzq;fs;  
a. 1 kw;Wk; 2 kl;Lk; b. 2> 3 kl;Lk;  c. 1> 3 kl;Lk; 
d. 1> 2> 3    e. tpil njhpatpy;iy 
 

55. Find out the compound interest on Rs.1,25,000 for 9 months at 8% per 
annum compounded quarterly. 
a. Rs.5561   b. Rs.2651             c. Rs.7651            
d. Rs. 5651  e. Answer not known 
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&.1>25>000f;F Mz;Lf;F 8 rjtPjk; vd;w tl;b tPjj;jpy; 9 khj fhyj;jpw;F> 
fhyhz;Lf;F xU Kiw fzf;fpLtjd; mbg;gilapy; vt;tsT $l;L tl;b 
fpilf;Fk;? 
a. Rs.5561   b. Rs.2651               c. Rs.7651            
d. Rs. 5651  e. tpil njhpatpy;iy 
 

56. Choose the correct statements (or) pairs 
1. Wimbledon 2023 (mens single) – Carlos Alcaraz 
2. Wimbledon 2023 (women’s single) – Vondrou Sova 
3. Badminton Canada Open 2023 – Lakshya Sen 
4. Asian Games – Hangzhou, China 
a. 1, 2, 3  b. 2, 3, 4    c. 1, 3, 4 
d. 1,2, 3, 4  e. Answer not known 
rupahd $w;Wfis (my;yJ) N[hbfisj; Nju;e;njLf;fTk; 
1. tpk;gps;ld; 2023 (Mz;fs; xw;iwau;) - fhu;Nyh]; my;fuh]; 
2. tpk;gps;ld; 2023 (ngz;fs; xw;iwau;) – Nthz;l;& Nrhth 
3. Ngl;kpz;ld; fdlh Xgd; 2023 – yf;~;ah nrd; 
4. Mrpa tpisahl;Lfs; - `hq;Nrh> rPdh 
a. 1, 2, 3  b. 2, 3, 4    c. 1, 3, 4 
d. 1,2, 3, 4  e. tpil njhpatpy;iy 

 
57. Arrange the following states in rankwise as per in Export Preparedness 

Index for 2022 
1. Gujarat  2. Maharastra 3. Karnataka 4. Tamilnadu 
a. 1, 2, 3, 4   b. 4, 2, 3, 1    c. 4, 3, 2, 1 
d. 1, 4, 2, 3   e. Answer not known 
2022f;fhd Vw;Wkjpj; jahu;epiyf; FwpaPl;il nghUj;J gpd;tUk; khepyq;fis 
juthpirg;gLj;Jf 
1. F[uhj;   2. Kfhuh~;buh  3. fu;ehlfh   4. jkpo;ehL 
a. 1, 2, 3, 4   b. 4, 2, 3, 1    c. 4, 3, 2, 1 
d. 1, 4, 2, 3   e. tpil njhpatpy;iy 

 
58. Knowing the signs, waiting for fitting time, with courteous care, 

Things not displeasing, needful things, declare. 
a.  Domestic Life     b. The Knowledge of Indications 
c.  Conduct in the Presence of the King d. The Envoy 
e. Answer not known 
Fwpg;Gmwpe;J fhyk; fUjp ntWg;G,y; 
Ntz;Lg Ntl;gr; nrhyy; 
a. ,y;tho;f;if    b. Fwpg;gwpjy;   
c. kd;diur; Nru;e;J xOfy;  d. J}J 
e. tpil njhpatpy;iy 
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59. Mighty in lore amongst the learned must he be, 
Midst jav'lin-bearing kings who speaks the words of victory. 
a. The Envoy  b. Conduct in the Presence of the King 
c. Enmity within  d. Avoiding mean Associations 
EhyhUs; E}y;ty;yd; MFjy; NtyhUs; 
ntd;wp tpidAiug;ghd; gz;G 

 a. J}J   b. kd;diur; Nru;e;J xOfy; 
 c. cl;gif   d. rpw;wpdk; Nruhik 
 e. tpil njhpatpy;iy 
 
60. Arrange the following incidents in the chronological order. 

I. Formation of Hindustan Socialist Republic Association. 
II. Naujawan Bharat Sabha  
III. Kakori Robbery Case 
IV. Formation of Hindustan Republic Association. 
V. Lahore conspiracy case. 
a. I, II, III, IV, V  b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V   e. Answer not known 
gpd;tUk; rk;gtq;fis fhythpirg;gLj;jTk; 
I. ,e;J];jhd; Nrhryp];l; FbauR rq;fj;jpd; cUthf;fk;  
II. et[thd; ghuj; rgh 
III. fNfhhp nfhs;is tof;F 
IV. ,e;J];jhd; FbauR rq;fk; cUthf;fk; 
V. yh$h; rjp tof;F 
a. I, II, III, IV, V  b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V   e. tpil njhpatpy;iy 
 

61. Who among the following founded The Hindustan Republican Association? 
1. Bhagat Singh  2. Sachin Sanyal  3. Jogesh Chatterji 
a. All the above  b. 1 and 2 only  c. 2 and 3 only  
d. 1 and 3 only   e. Answer not known 
`pe;J];jhd; upgg;spfd; mNrhrpNa~id Njhw;Wtpj;jtu;fs; ahu;? 
1. gfj;rpq;   2. rr;rpd; rd;ahy;  3. N[hNf~; rl;lu;[p 
a. Nkw;fz;l midtUk; b. 1 kw;Wk; 2 kl;Lk; c. 2 kw;Wk; 3 kl;Lk;  

d. 1 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 
 
62. If 5A = 2B = 11C, then A: B : C is.. 
 a.   11:5:2            b.   22:10:55        c.  22 : 55 : 10       

d.  5 : 11 : 2  e. Answer not known 
 5A = 2B = 11C, vdpy; A: B : C d; tpfpjk; fhz;f. 

a.   11:5:2            b.   22:10:55        c.  22 : 55 : 10       
d.  5 : 11 : 2  e. tpil njhpatpy;iy  
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63. At first who translated a few parts of Tirukkural in English? 
a. Constantine Josep Beschi b. Francis Whyte Ellis 
c. George Uglow Pope  d. Nathaniel Edward Kindersely 
e. Answer not known 
jpUf;Fwspd; rpy; gFjpfis Kjypy; Mq;fpyj;jpy; nkhop ngah;f;fj; 
Jzpe;jth; ahh;? 
a. fhd;];ld;ild; N[hrg; ng];fp b. gpuhd;rp]; xapl; vy;yp]; 
c. [hh;[; cf;Nyh Nghg;   d. Nejdpay; vl;th;l; fpz;lh;];yp 

e. tpil njhpatpy;iy 
 

64. Which one of the following is not a part of Thirukkural? 
a. Not to drink liquor  b. Sin    c. Poverty 
d. The word ‘Tamil’  e. Answer not known 
gpd;tUtdtw;Ws; jpUf;Fwspy; ,lk; ngwhjJ 
a. fs;Sz;zhik   b. Co;   c. tWik 
d. jkpo; vd;w nrhy;  e. tpil njhpatpy;iy 

 
65. Gandhi presided over the All India Khilafat conference held at ________ in 

November 1919. 
a. Hyderabad   b. Nagpur     c. Delhi    
d. Lahore    e. Answer not known 
1919 Mk; Mz;L etk;gh; khjk; ________ apy; eilngw;w mfpy ,e;jpa 
fpyhgj; ,af;f khehl;bw;F fhe;jpabfs; jiyikNaw;whh;.  
a. i`juhghj;  b. ehf;G+h;    c. by;yp   
d. yh$h;    e. tpil njhpatpy;iy 

 
66. The Gandhi advised the mill workers to go on strike demanding how much 

percent increase in their wages? 
a. 50%  b. 25%   c. 15%   
d. 35%   e. Answer not known 
Miy njhopyhsh;fs; jq;fs; Cjpaj;jpy; vt;tsT rjtPjk; mjpfhpg;G Nfhhp 
Ntiy epWj;jj;jpy; <Lgl Ntz;Lk; vd;W fhe;jp mwpTWj;jpdhh; 
a. 50%  b. 25%   c. 15%   
d. 35%   e. tpil njhpatpy;iy 

 
67. Home land started by Perarignar Anna was a _____. 

a. English Daily  b. Tamil Daily  c. Tamil Weekly   
d. English Weekly e. Answer not known 
NguwpQh; mz;zh Jtf;fpa N`hk;Nyz;l; (Home land) vd;gJ xU _____. 
a. Mq;fpy ehspjo;  b. jkpo; ehspjo;  c. jkpo; thu,jo;  
d. Mq;fpy thu ,jo; e. tpil njhpatpy;iy 
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68. Which amendment is called as anti – secessionist amendment? 
a. 14th  b. 15th  c. 16th  d. 17th  e. Answer not known 
‘gphptpidthj vjph;g;G rl;ljpUj;jk;’ vd miof;fg;gLk; rl;lj;jpUj;jk; vJ? 
a. 14tJ b. 15tJ c. 16tJ d. 17tJ e. tpil njhpatpy;iy 
 

69. Who was the first women Minister of Independent Tamil Nadu? 
a. Rukmani Laxmipathy  b. Jothy Venkatachalam 
c. Muthulakshmi Reddy  d. Sathyavani Muthu Annaiyar 
e. Answer not known 
Rje;jpu jkpoehl;by; Kjy; ngz; mikr;rh;? 
a. Uf;kzp ,yl;Rkpgjp  b. N[hjp ntq;flhr;ryk; 
c. Kj;Jnyl;Rkp nul;b  d. rj;athzp Kj;J md;idahh; 

e. tpil njhpatpy;iy 
 

70. This was the first Tamil Text translated by G.U. Pope? 
a. Thiruvasagam  b. Purananooru   c. Thirukkural 
d. Naaladiyaar  e. Answer not known 
[p.A. Nghg; Mq;fpyj;jpy; nkhopngah;j;j Kjy; jkpo; E}y; ,J. 
a. jpUthrfk;  b. GwehD}W    c. jpUf;Fws; 
d. ehybahh;   e. tpil njhpatpy;iy 

 
71. In three vessels of 10 L capacity mixture of milk and water is filled the ratio 

of milk and water are 2:1, 3:1 and 3:2 in the respective vessels.  If all the three 
vessels are emptied into a single large vessel, find the ratio of milk and 
water in the resultant mixture. 
a. 121:41   b. 117:22   c. 127:41  
d. 121:59   e. Answer not known 
10 ypl;lh; nfhs;ssT nfhz;l %d;W ghj;jpuq;fspy; KiwNa 2:1:3:1 kw;Wk; 
3:2 vd;w tpfpjj;jpy; ghYk; jz;zPUk; fye;j fyitahy; epug;gg;gl;Ls;sJ. 
%d;W ghj;jpuq;fspy; cs;s fyitfs; midj;ijAk; xU nghpa 
ghj;jpuj;jpy; Cw;wg;gLfpwJ vdpy; nghpa ghj;jpuj;jpy; cs;s fyitapy; ghy; 
kw;Wk; jz;zPhpd; tpfpjk; vd;d? 
a. 121:41   b. 117:22   c. 127:41   
d. 121:59   e. tpil njhpatpy;iy 

 
72. What is the First Explanatory writer among the four for the book 

Thirukkural? 
a. Dharmar   b. Parimelazhakar   c. Mu.Va. 
d. Manakkudavar  e. Answer not known 
jpUf;Fws; ciuahrphpah;fSs; Kjyhkth; ahh;? 
a. jh;kh;   b. ghpNkyofh;   c. K.t 
d. kzf;Flth;  e. tpil njhpatpy;iy 
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73. In which among the following years, Sabarmati Ashram was established by 
Mahatma Gandhi?  
a. 1910   b.  1912    c.  1915    
d.  1917  e. Answer not known 
gpd;tUk; ve;j Mz;by;> kfhj;kh fhe;jpahy; rgh;kjp Mrpukk; 
Njhw;Wtpf;fg;gl;lJ? 
a. 1910   b.  1912    c.  1915    
d.  1917  e. tpil njhpatpy;iy 
 

74. Which of the following congress session ratified the Gandhi – Irwin Pact? 
a. Calcutta  b. Madras   c. Lahore  
d. Karachi  e. Answer not known 
gpd;tUtdtw;Ws; ve;j fhq;fpu]; khehL fhe;jp ,h;tpd; xg;ge;jj;ij 
Vw;Wf;nfhz;lJ? 
a. fy;fj;jh  b. nkl;uh];   c. yh$h;  
d. fuhr;rp  e. tpil njhpatpy;iy 

 
75. State Autonomy resolution was passed in Tamil Nadu Assembly on ____. 

a. 1970 b. 1972 c. 1974 d. 1976 e. Answer not known 
khepy Rahl;rp jPh;khdk; jkpofr; rl;lkd;wj;jpy; vg;NghJ epiwNtw;wg;gl;lJ? 
a. 1970 b. 1972 c. 1974 d. 1976 e. tpil njhpatpy;iy 
 

76. Who is the chairman of 4th Police Commission? 
a. Shabanayagam  b. Poornalingam  c. R.A. Gopalsamy  
d. C.T. Selvam  e. Answer not known 
4 tJ fhty; Mizaj;jpd; jiyth; ahh;? 
a. rghehafk;  b. G+h;zypq;fk;  c. R.A. Nfhghy;rhkp  
d. C.T. nry;tk;  e. tpil njhpatpy;iy 

 

77. 10 + 2 + 3 system of education was implemented in ____ in Tamil Nadu. 
a. 1969 b. 1978 c. 1980 d. 1992 e. Answer not known 
jkpo;ehl;by; 10 + 2 + 3 fy;tpKiw mwpKfg;gLj;jg;gl;l Mz;L ____. 
a. 1969 b. 1978 c. 1980 d. 1992 e. tpil njhpatpy;iy 

 

78. A sum of money was put at simple interest at a certain of rate of interest for 
2 years. Had it been put at 3% higher rate, it would have fetched Rs.300 
more. Find the sum. 
a. 5000  b. 4000   c. 10000   
d. 1000  e. Answer not known 
xU njhifahdJ 2 Mz;LfSf;F jdptl;b tpfpjj;jpy; Nrkpf;fg;gLfpwJ. 
mNj njhif 3% mjpfkhd jdptl;b tPjj;jpy; Nrkpf;fg;gl;lhy; &.300 
mjpfkhf tl;b fpilf;Fnkdpy; Nrkpf;fg;gLk; njhif vd;d? 
a. 5000  b. 4000   c. 10000   
d. 1000  e. tpil njhpatpy;iy 
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79. 5th World Tamil conference was held at _______. 
a. 1969, Chennai  b. 1981, Madurai  c. 1995, Tanjore   
d. 1996, Jaffna  e. Answer not known 
5 tJ cyfj;jkpo; khehL eilngw;w ,lk; _____. 
a. 1969> nrd;id  b. 1981> kJiu  c. 1995> jQ;rhT+h;   

d. 1996> aho;g;ghzk; e. tpil njhpatpy;iy 
 

80. The idea of written constitution first originated in  
a. USA   b. France    c. Japan 
d. United Kingdom e. Answer not known 
vOjg;gl;l murpayikg;G vd;w fUj;J Kjd; Kjypy; vq;F Njhd;wpaJ?  
a. mnkhpf;fh   b. gpuhd;];    c. [g;ghd; 
d. If;fpa uh[;[pak; e. tpil njhpatpy;iy 

 
81. Akshar river Cruise runs in which river front? 

a. Mahi   b. Yamuna    c. Ganga 
d. Sabarmati  e. Answer not known 
mf;~u; ejp fg;gy; ve;j ejpapy; XLfpwJ? 
a. kh`p    b. aKdh    c. fq;if  
d. rgu;kjp    e. tpil njhpatpy;iy 
 

82. Which is the book that stands before Thirukkural with the title “the most 
translated” book? 
a. Dhammapada  b. The Bible   c. Manu-Smriti  
d. Quraan   e. Answer not known 
cyfpy; ve;j E}Yf;F mLj;jgbahf> jpUf;Fws;> mjpfkhd nkhopfspy; 
nkhopngah;f;fg;gl;Ls;sJ? 
a. jk;kgjk;   b. tptpypak;    c. kDjh;k rhj;jpuk; 
d. jpUf;Fh; Md;  e. tpil njhpatpy;iy 

 
83. In which literature does the word “Kudumbam” appears for the first time in 

Tamil? 
a. Naaladiyaar   b. Iniyavai Naarpathu  c.Thirukkural 
d. Mudhumozhikaanji e. Answer not known 
FLk;gk; vDk; nrhy; Kjy; Kjypy; ,lk; ngw;w E}y;? 
a. ehybahh;   b. ,dpait ehw;gJ  c. jpUf;Fws; 
d. KJnkhopf; fhQ;rp e. tpil njhpatpy;iy 

 
84. Who conceived the Nai Talim or Basic education for all in 1937? 

a. Vallabhai Patel   b. C. Rajagopalachari 
c. Mahatma Gandhi  d. Jawaharlal Nehru 
e. Answer not known 
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1937Mk; Mz;L midtUf;Fkhd ie jyPk; my;yJ mbg;gil fy;tp 
Kiwia cUthf;fpath; ahh;? 
a. ty;ygha; gNly;   b. C. ,uh[Nfhghyhr;rhhp 
c. kfhj;kh fhe;jp   d. [t`h;yhy; NeU 

e. tpil njhpatpy;iy 
 

85. Calculate the number of years on which the amount Rs. 16,500/- is matured 
to Rs. 22,935/- at the rate of simple interest 13% per annum. 
a. 2  b. 3  c. 4  d. 5  e. Answer not known 
Mz;Lf;F 13% jdptl;b tPj;jpy; xU njhif &. 16>000/- y; ,Ue;J 
vj;jid Mz;Lfspy; &. 22>935/- Mf caUk;? 
a. 2  b. 3  c. 4  d. 5     e. tpil njupatpy;iy 
 

86. Gandhi called for a Nation-wide Satyagraha against the Revolt Act on 
_________ 
a. 6 April 1919  b. 7 April 1919  c. 8 April 1919  
d. 9 April 1919     e. Answer not known 
fhe;jpabfs; nusyl; rl;lj;ij vjph;j;J ehL jOtpa rj;jpahfpufg; 
Nghuhl;lj;Jf;F ________ ,y; miog;GtpLj;jhh;.  
a. 1919 Vg;uy; 6  b. 1919 Vg;uy; 7  c. 1919 Vg;uy; 8  
d. 1919 Vg;uy; 9  e. tpil njhpatpy;iy 
 

87. Who introduced the concept of scientific socialism? 
a. Periyar    b. C.N. Annadurai c. Singaravelar  
d. Kalaignar Karunanidhi e. Answer not known 
mwptpay; G+h;t r%fj;Jtk; vd;w fUj;ij mwpKfg;gLj;jpath; ahh;? 
a. nghpahh;    b. rp.vd;. mz;zhj;Jiu c. rpq;fhuNtyh; 
d. fiyQh; fUzhepjp  e. tpil njhpatpy;iy 

 
88. Journal of All India Women’s conference was ____ 

a. Roshini  b. Ganga   c. Yamuna   
d. Saraswathi e. Answer not known 
midj;jpe;jpa ngz;fs; khehl;bd; ,jo;? 
a. Nuh~pdp  b. fq;fh   c. aKdh   
d. ru];tjp  e. tpil njhpatpy;iy 

 
89. Who said “I like the religion that teaches liberty, equality and fraternity” 

a. BR Ambedkar  b. Tagore    c. Nehru 
d. Mahatma Gandhi e. Answer not known 
‘,e;jpa murpayikg;gpd; je;ij’ vd mwpag;gLgth; 
a. BR mk;Ngj;fh;  b. jh$h;    c. NeU 
d. kfhj;khf fhe;jp e. tpil njhpatpy;iy 
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90. A person who analysis before speaking____ 
a. relation   b. King   c. Ambassador  
d. friend   e. Answer not known 
Muha;e;J nrhy;fpwtu; 
a. cwtpdu;   b. muru;   c. J}Jtu;   
d. ez;gu;   e. tpil njhpatpy;iy 
 

91. Who are the member of the defence committee set up by the congress on 
INA trial? 
a. Gandhi, Nehru, Asaf Ali  
b. Nehru, Bhulabhai Desai, Asaf Ali, Tej Bahadur Sapru  
c. Gandhi,  Bhulabhai Desai, Tej Bahadur Sapru  
d. Nehru, Tej Bahadur Sapru, Rajaji, Gandhi  
e. Answer not known 
I.vd;.V. tprhuizf;fhf> fhq;fpu]hy; mikf;fg;gl;l ghJfhg;Gj;Jiw fkpl;b 
cWg;gpdh;fs; ahth;? 
a. fhe;jp> NeU> Mrg; myp 

b. NeU> Gyhgha; Njrha;> Mrg; myp> Nj~; gfJ}h; rhg;& 
c. fhe;jp> Gyhgha; Njrha;> Nj[; g`J}h; rhg;& 
d. NeU> Nj[; g`J}h; rhg;&> uh[h[p> fhe;jp  
e. tpil njhpatpy;iy 
 

92. Who among the following leader criticised the government of India Act 1935 
as the “act of slavery “?  

 a. Sardar Vallabhai patel  b. Jawaharlal Nehru c. C.R. Das 
 d. Mahatma Gandhi  e. Answer not known  

1935 ,e;jpa muRr; rl;lj;ij mbikg; gl;lak; vd;W $wpath; ahh;? 
a. rh;jhh; ty;ygha; gNly; b. [t`h;yhy; NeU  c. CR jh]; 
d. kfhj;kh fhe;jp   e. tpil njhpatpy;iy 
 

93. Widow Remarriage Scheme of Tamil Government is under the name of 
_____. 
a. Moovalur Ramamirtham  b. Muthulakshmi Ammayar 
c. Dharmambal    d. Annai Meenambal 
e. Answer not known 
jkpo;ehL murpd;> tpjit kWkzj; epjpcjtp jpl;lk; gpd;tUk; vthpd; 
ngahpy; nray;gl;L tUfpwJ. 
a. %thY}h; ,uhkkph;jk;   b. Kj;Jnyl;Rkp mk;ikahh;   

c. jh;khk;ghs;    d. md;id kPdhk;ghs;   
e. tpil njhpatpy;iy 
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94. A principal becomes ` 2028 in 2 years at 4% p.a compound interest.  Find 
the principal. 
a.  ` 1500  b. ` 1650   c. ` 1758   
d. ` 1875  e. Answer not known 
Xu; mryhdJ 2 Mz;Lfspy; Mz;Lf;F 4% $l;L tl;bapy; ` 2028Mf 
MfpwJ vdpy;> mriyf; fhz;f. 
a.  ` 1500  b. ` 1650   c. ` 1758   
d. ` 1875  e. tpil njhpatpy;iy 
  

95. Inter-caste Marriage Assistance scheme of Tamil Nadu Government is under 
the name of ____. 
a. Moovalur Ramamirtham  b. Muthulakshmi Ammayar 
c. Dharmambal    d. Annai Meenambal 
e. Answer not known 
jkpo;ehL murpd;> fyg;Gj; jpUkz epjpcjtpj; jpl;lk; gpd;tUk; vthpd; 
ngahpy; nray;gl;L tUfpwJ? 
a. %thY}h; ,uhkkph;jk;   b. Kj;Jnyl;Rkp mk;ikahh; 
c. jh;khk;ghs;    d. md;id kPdhk;ghs; 

e. tpil njhpatpy;iy 
 

96. Citizenship act of 1955 has been amended how many times? 
a. 4  b. 6  c. 8  d. 9  e. Answer not known 
FbAhpikr; rl;lk; 1955 vj;jid Kiw jpUj;jg;gl;lJ? 
a. 4  b. 6  c. 8  d. 9  e. tpil njhpatpy;iy  
 

97. Who told these words, “Hindu and Muslim communalism were product of 
middle class infighting utterly divorced from the consciousness of the 
Hindu and Muslim masses”? 
a. Mahatma Gandhi b. Jawarhalal Nehru c. Annie Besant  
d. Motilal Nehru  e. Answer not known 
“,e;J – K];yPk; tFg;Gthjk;> eLj;ju tFg;GfSf;fpilNa ele;j 
Nkhjy;fspd; tpisNt MFk;.  kdrhl;rpAs;s ,e;J kw;Wk; K];yPk; 
nghJkf;fs; ,j;jifa tFg;Gthjj;jpypUe;J Kw;wpYk; tpyfpNa ,Ue;jdh;. - 
,f;$w;W ahUilaJ? 
a. kfhj;kh fhe;jp  b. [t`h;yhy; NeU c. md;dpngrd;l;  
d. Nkhjpyhy; NeU  e. tpil njhpatpy;iy 
 

98. Who launched triangular fight in 1953? 
a. Periyar   b. Kalaignar Karunanidhi c. K. Kamaraj  
d. C.N. Annadurai e. Answer not known 
1953 Kk;Kidg; Nghuhl;lk; rz;ilia Jtq;fpath; ahh;? 
a. nghpahh;   b. fiyQh; fUzhepjp  c. K. fhkuh[;  
 d. CN mz;zhJiu e. tpil njhpatpy;iy 
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99. Iyothee Thasar was born on ____ 
a. May 20, 1840  b. May 20, 1845  c. June 20, 1840   
d. June 20, 1845  e. Answer not known 
mNahj;jp jhrh; gpwe;j ehs; 
a. Nk 20> 1840  b. Nk 20> 1845  c. [_d; 20> 1840   
d. [_d; 20> 1845  e. tpil njhpatpy;iy 
 

100. “The solutions to people’s problem should be found thorough humanitarian 
mode” who said this? 
a. Vallalar    b. Vaikundha Swamigal  c. Periyar  
d. Ayyangali  e. Answer not known 
“kdpjNea mbg;gilapy; kf;fs; gpur;ridfSf;F jPh;T fhzNtz;Lk;” vdf; 
$wpath; __________ 
a. ts;syhh;   b. itFe;jrhkp   c. nghpahh; 
d. ma;aq;fhyp  e. tpil njhpatpy;iy 

 
101. Which part of the Indian constitution has provisions for the government to 

make laws to address many problems prevalent in the Indian society? 
a. Part III   b. Part IV   c. Part XIV 
d. Part XI   e. Answer not known 
,e;jpa r%fj;jpy; epyTk; gy gpur;ridfSf;F jPh;T fhz;gjw;F murhq;fk; 
rl;lq;fis ,aw;Wtjw;fhd Vw;ghLfs; ,e;jpa murpayikg;gpd; ve;jg; 
gFjpapy; cs;sJ. 
a. gFjp III   b. gFjp IV   c. gFjp XIV 
d. gFjp XI   e. tpil njhpatpy;iy 
 

102. In how much time will a sum of Rs.1600 amount to Rs.1936 at 10% per 
annum compound interest 
a. 2 years  b. 3 years    c. 4 years   
d. 5 years  e. Answer not known 
ì 1600 MdJ 10% Mz;L $l;Ltl;b tPjk; nfhz;L vj;jid Mz;Lfspy; ì 

1936 MFk;?  
a. 2 Mz;Lfs; b. 3 Mz;Lfs;   c. 4 Mz;Lfs;  
d. 5 Mz;Lfs; e. tpil njhpatpy;iy 
 

103. The first session of the constituent assembly was held on 
a. 7 December, 1946 b. 9 December, 1946 c. 11 December, 1946 
d. 9 December, 1947 e. Answer not known 
murpayikg;G eph;za rigapd; Kjy; $l;lk; eilngw;w ehs; 
a. 7 brk;gh; 1946  b. 9 brk;gh; 1946  c. 11 brk;gh; 1946 
d. 9 brk;gh; 1947  e. tpil njhpatpy;iy 
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104. When did the constituent assembly resembled after partition of Pakistan, as 
the constituent assembly for the remaining India? 
a. 14 August, 1947  b. 29 August, 1947  c. 26 August, 1947 
d. 9 December, 1946 e. Answer not known 
ghfp];jhd; gphptpidf;Fg; gpd;dh; kPjKs;s ,e;jpahtpw;fhd murpayikg;G 
eph;za rig $ba ehs;? 
a. 14 Mf];l; 1947  b. 29 Mf];l; 1947  c. 26 Mf];l; 1947 
d. 9 brk;gh; 1946  e. tpil njhpatpy;iy 
 

105. Which of the following book was written by Bhagat Singh in 1930 while he 
was imprisoned in the Lahore Central Jail? 
a. Jail Diary and other writings  b. Why I am an Atheist 
c. Prison Diary    d. To young political workers 
e. Answer not known 
1930 Mk; Mz;L yh$h; kj;jpa rpiwapy; gfj; rpq; milf;fg;gl;bUe;j NghJ 
mth; gpd;tUk; ve;j Gj;jfj;ij vOjpdhh;? 
a. rpiw ehl;Fwpg;G kw;Wk; gpw Mtzq;fs; 

b. ehd; Vd; ehj;jpfdhNdd; 
c. rpiw ehl;Fwpg;G 
d. ,isa murpay; nray;ghl;lhsu;fSf;F 
e. tpilnjhpatpy;iy 
 

106. ‘The Oppressed Hindus’ – written by ____ 
a. M.C. Raja   b. Iyothee Thasar  c. B.R. Ambedhkar  
d. Rettamalai Srinivasan e. Answer not known 
‘xLf;fg;gl;l ,e;Jf;fs;’ (The oppressed Hindus) vOjpath; ahh;? 
a. M.C uh[h    b. mNahj;jpjhrh;  c. BR mk;Ngj;fh;  
d. ,ul;ilkiy rPdpthrd; e. tpil njhpatpy;iy 

 
107. The 'Thirukkural' which Periyar condemned was 

a. There cannot be good times or bad times for those who toil to improve 
their society 

b. Think deeply before plunging into action 
c. Learn everything properly and then act according to what you have 

learnt 
d. She, who worships her husband without worshipping god will bring in 

rain at her word. 
e. Answer not known 
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nghpahh; fz;bj;j Fws; vJ? 
a. Fb nra;thh;f;fpy;iy gUtk;  

kbnra;J khdk; fUjf; nfLk; 
b. vz;zpj; Jzpf fUkk;. Jzpe;jgpd; 

vz;Ztk; vd;gJ ,Of;F 
c. fw;f frlw fw;git fw;wgpd;  

epw;f mjw;Fj; jf.   
d. nja;tk; njhoh ms; nfhOed; 

nwhOnjOths; nga;nadg; nga;Ak; kio 
e. tpil njhpatpy;iy 

 
108. The Vaikom struggle was 

a. A temple entry struggle 
b. Fighting for the rights to the untouchables to walk in streets around the 

temple 
c. Struggle for freedom for the nation 
d. Salt sathyagraha 
e. Answer not known 
itf;fk; Nghuhl;lk; vd;gJ _______. 
a. Nfhapy; EioTg; Nghuhl;lk;     
b. Nfhapiyr; Rw;wp ,Ue;j njUf;fspNy jho;j;jg;gl;l> xLf;fg;gl;lth;fSf;F 

elf;f chpik Ntz;b Nghuhl;lk;  
c. Njr tpLjiyg; Nghuhl;lk;  
d. cg;G rj;jpahf;fpufk; 
e. tpil njhpatpy;iy 

 
109. If 0.35 : x : : 100 : 0.2 then x is  

a. 7   b. 0.7   c. 0.007  d. 0.0007 e. Answer not known 
0.35 : x : : 100 : 0.2  vdpy; x MdJ 
a. 7   b. 0.7   c. 0.007  d. 0.0007 e. tpil njhpatpy;iy 

 
110. The methodologies that Periyar suggests for women’s liberation are  

a. Equal rights in education, employment, office and property  
b. Rights to choose grooms and to family planning 
c. Rights to divorce and remarriage 
d. All the above  
e. Answer not known 
ngz;fspd; tpLjiyf;Fg; nghpahh; nrhy;Yk; topKiwfs; ahit?  
a. fy;tp> Ntiytha;g;G> gjtp> nrhj;J Mfpatw;wpy; rkchpik   
b. kzkfidj; Njh;e;njLf;fTk; fUj;jil nra;J nfhs;sTk; chpik   

c. kztpyf;Fg; ngwTk; kWkzk; nra;aTk; chpik    

d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy 
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111. Match the following 
Subjects     Source constitution 
A. Concurrent list     1. French 
B. Republic      2. South Africa 
C. Election of members of Rajya Sabha 3. Australia 
D. Joint sitting     4. Canada 
 A B C D 
a. 4 2 1 3 
b. 4 1 2 3 
c. 1 3 2 4 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf 

gFjpfs;    %y murpayikg;G 
A. nghJg;gl;bay;    1. gpnuQ;R 
B. FbauR     2. njd;dhg;gphpf;fh 
C. uh[;a rgh cWg;gpdh; Njh;jy; 3. M];jpNuypah 
D. $l;L mkh;T    4. fdlh 
 A B C D 
a. 4 2 1 3 
b. 4 1 2 3 
c. 1 3 2 4 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
112. Choose the correct statements about Multi Dimensional Poverty Index (MPI) 

(2023) 
1. Global MPI released by UNDP and OPHI since 2010 
2. National MPI released by NITI Aayog 
3. Least Rank in MPI Index – Kerala 
4. Least Third Rank in MPI Index – Tamil Nadu 
a. 1, 2, 3   b. 2, 3, 4    c. 1, 3, 4 
d. 1, 2, 3, 4   e. Answer not known 
gy gupkhz tWikf; FwpaPL (MPI) gw;wpa rupahd mwpf;iffisj; Nju;T 
nra;aTk; 
1. cyfstpy; gyghpkhz tWikf; FwpaPL UNDP kw;Wk; OPHI mikg;ghy; 

2010 Kjy; ntspaplg;gLfpd;wJ. 
2. Njrpa gyghpkhz tWikf; FwpaPL epjp MNahf; mikg;ghy; 

ntspaplg;gLfpd;wJ. 
3. Fiwe;j gyghpkhz tWikf;FwpaPl;by; Kjy; ,lk; - Nfush 
4. Fiwe;j gyghpkhz tWikf;FwpaPl;by; %d;whk; ,lk; - jkpo;ehL 
a. 1, 2, 3   b. 2, 3, 4    c. 1, 3, 4 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 
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113. The Minister is the one who can do anything special? 
1. Selecting the appropriate weapons for action 
2. Doing the work at the right time 
3. Knowing the type of method 
4. the difficult undertaking  
a. 1, 4  b. 1, 2, 4 c. 2, 3, 4 d. 1, 2, 3, 4 e. Answer not known 
vij rpwg;gilar; nra;aty;ytd; mikr;rd; Mthd;? 
1. nraYf;F cupa fUtpfis Nju;e;njLj;jy;. 
2. nraiy Vw;w fhyj;jpy; nra;jy;. 
3. nraiyr; nra;Ak; tifawpjy;. 
4. mupar; nray;fis nra;J Kbj;jy;. 
a. 1, 4  b. 1, 2, 4 c. 2, 3, 4 d. 1, 2, 3, 4 e. tpil njhpatpy;iy 

 

114. The ratio which of the following is not an equivalent ratio of 
𝟏𝟔

𝟐𝟒
 

a.  
𝟏𝟎

𝟏𝟓
  b. 

𝟏𝟐

𝟏𝟖
  c. 

𝟐𝟎

𝟐𝟖
  d. 

𝟔

𝟗
 e. Answer not known 

fPNo cs;s ve;j tpfpjk; 
𝟏𝟔

𝟐𝟒
 vd;w tpfpjj;jpw;F rkkhd tpfpjk; my;yhjjhf 

,Uf;Fk;? 

a.  
𝟏𝟎

𝟏𝟓
  b. 

𝟏𝟐

𝟏𝟖
  c. 

𝟐𝟎

𝟐𝟖
  d. 

𝟔

𝟗
 e. tpil njhpatpy;iy 

 

115. Which of the following parties were established by Dr. B.R. Ambedkar? 
1. The Independent Labour Party 
2. The Peasant and Workers Party of India 
3. All India Scheduled Castes Federation 
a. 1, 2 only   b. 1, 3 only   c. 3 only   
d. All of these  e. Answer not known 
gpd;tUtdtw;wpy; B.R. mk;Ngj;fuhy; cUthf;fg;gl;l fl;rpfs; ahit? 
1. Rje;jpu njhopyhsh; fl;rp  
2. ,e;jpa tptrhapfs; kw;Wk; njhopyhsh;fs; fl;rp 
3. midj;jpe;jpa gl;bay; ,dj;jth; $l;likg;G 
a. 1> 2 kl;Lk;  b. 1> 3 kl;Lk;  c. 3 kl;Lk;   
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

116. Match the following 
A. Steering Committee     1. Usha Nathsen 
B. Press Gallery Committee    2. Rajendra Prasad 
C. Committee on Chief Commissioner Provinces 3. GV Mavlankar 
D. Committee on functions of constituent  
  assembly        4. B Pattabhi Sitaramayya 
 A B C D 
a. 4 1 3 2 
b. 2 1 4 3 
c. 1 3 4 2 
d. 3 1 4 2   e. Answer not known 
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nghUj;Jf. 
A. topfhl;Ljy; FO      1. c~h ehj;nrd; 

B. Clf Nfyhp FO      2. uhN[e;jpu gpurhj; 
C. jiyik MSeh; khfhzq;fSf;fhd FO  3. GV khtyq;fh; 
D. murpay; eph;za rigapd; gzpfs; FO  4. B. gl;lhgp rPjhuhikah. 
 A B C D 
a. 4 1 3 2 
b.  2 1 4 3 
c. 1 3 4 2 
d.  3 1 4 2 
e. tpil njhpatpy;iy 

 
117. Choose the correct statements about National Capital Territorry of Delhi 

(amendment) Ordinance – 2023 
1. Creation of National Capital Civil Service Authority (NCCSA) 
2. NCCSA Consist of CM of Delhi, Chief Secretary and Principal Secretary 

of Home Department 
3. Decisions are decided by majority of votes of the members present and 

voting 
4. State Government will appoint both the principal secretary and chief 

secretary 
a. 1, 2, 3   b. 1, 3, 4    c. 1, 2, 4 
d. 1, 2, 3, 4   e. Answer not known 
Njrpa jiyefu; nly;yp (jpUj;jr;rl;lk;) Miz - 2023 gw;wpa rupahd 
mwpf;iffisj; Nju;T nra;aTk; 
1. Njrpa jiyefh; rptpy; Nrit Mizak; (NCCSA) cUthf;fg;gl;lJ 
2. NCCSA-tpy; nly;yp Kjy;tu;> jiyikr; nrayhsu; kw;Wk; cs;Jiwj; 

Jiwapd; Kjd;ikr; nrayhsu; MfpNahu; cs;sdu;. 
3. cWg;gpdh;fs; kw;Wk; thf;fspg;gtu;fspd; ngUk;ghd;ik thf;Ffshy; 

KbTfs; jPu;khdpf;fg;gLfpd;wd 
4. khepy muR Kjd;ik nrayhsu; kw;Wk; jiyik nrayhsu; ,UtiuAk; 

epakpf;Fk; 
a. 1, 2, 3   b. 1, 3, 4    c. 1, 2, 4 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 

 
118. Fill in the blank 

With ____ or _____, when you neglect some little thing, 
If you reflect, like smouldering fire, 'twill ruin bring. 
a. Slumber, Sleepy  b. evil, end   c. work, foe 
d. Money, means  e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf 
______,______ vd;wpuz;bd; vr;rk; epidAq;fhy; 
jPnar;rk; Nghyj; njWk; 
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a. J}q;Ff> J}q;fpr; b. #o;r;rp> KbT  c. tpid> gif  
d. nghUs;> fUtp  e. tpil njhpatpy;iy 

 
119. Choose the incorrectly matched pairs regarding Baba Saheb 

I. Bahishkrit Hitakarini Sabha – “Educate Organise Agitate” 
II. Kalaram Temple Entry Movement – Nashik, 1930 
III. Schedule Caste Federation – Renamed as Republican Party of India in 

1955 
IV. Mooknayak – Weekly 
V. His last writing – The annihilation of caste 
a. I, III only   b. III only   c. V Only   
d. III, V only  e. Answer not known 
 ghgh rhfpg; gw;wp jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
I. gfp];fphpl; `pl;fhhpdp rgh – “fw;gp> xd;WNrh;> Gul;rpnra;” 
II. fhyhuhk; Mya EioT Nghuhl;lk; - ehrpf;> 1930 
III. gl;bay; rhjpfs; $l;likg;G - ,e;jpa FbauR fl;rpahf 1955y; ngah; 

khw;wg;gl;lJ 
IV. %f; ehaf; - thu ,jo; 
V. filrpahf vOjpa Gj;jfk; - “rhjpfis mopj;njhopj;jy;” 
a. I, III kl;Lk;  b. III kl;Lk;   c. V kl;Lk; 
d. III, V kl;Lk;  e. tpil njhpatpy;iy 
 

120. Find out the wrong statement: 
I. South Indian People’s Association was a political party.  
II. South Indian Liberal Federation was a Trade centre like a joint – Stock 

company  
a. I only   b. II only    c. Both    
d. Neither     e. Answer not known 
jtwhd $w;iwf; fhz;f:  

I. njd;dpe;jpa kf;fs; rq;fk; xU murpay; fl;rpahFk;.  
II. njd;dpe;jpa ey chpikr; rq;fk; xU $l;Lg; gq;Ff; fofj;ijg; Nghd;w 

th;j;jf mikg;G  
a. I kl;Lk;   b. II kl;Lk;    c. ,uz;Lk; 
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 

 
121. A sum at simple interest of 13½% per annum amounts to Rs. 3,080 in 4 yr. 

Find the Principal 
a. Rs.2,000   b. Rs. 1,850     c. Rs.1,650  
d. Rs. 1,550  e. Answer not known 
Mz;Lf;F 13½% tPjk; jdp tl;bf;F 4 Mz;Lfspy; fpilf;Fk; nkhj;j 
njhif &.3>080 vdpy; mriyf; fhz;f. 
a. Rs.2,000   b. Rs. 1,850     c. Rs.1,650  
d. Rs. 1,550  e. tpil njhpatpy;iy 
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122. Match the following:  
A. Justice     1. Parthasarathi  
B. Dravidan     2. T.M. Nair 
C. Andhra Prakashika   3. Bhakthavatsalam  
D. Kudi Arasu    4. Periyar  

A B C D 
a.  1 2 3 4 
b.  2 1 3 4 
c.  2 3 1 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf: 
A. ePjp (Justice)    1. ghh;j;jrhujp  
B. jpuhtpld;     2 T.M. ehah; 

C. Me;jpu gpufhrpfh    3. gf;jtj;ryk;  

D. FbuaR     4. nghpahh;  
A B C D 

a.  1 2 3 4 
b.  2 1 3 4 
c.  2 3 1 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 

123. Match the following related to Anna’s Literary work.  
A. First Article   1. Veengiya Udhadu  
B. First short story   2. Congress Oolal  
C. First poem    3. Kokarakko 
D. First Novel    4. Pengal Samathuvam 

A B C D 
a. 3 4 2 1 

 b. 4 3 2 1 
 c. 4 2 3 1 
 d. 4 1 2 3 

mz;zh mth;fspd; ,yf;fpag; gzp rhh;e;j gpd;tUtdtw;iwg; nghUj;Jf:  
A. Kjy; fl;Liu    1. tPq;fpa cjL  
B. Kjy; rpWfij   2. fhq;fpu]; Coy;  
C. Kjy; ftpij    3. nfhf;fuf;Nfh  
D.  Kjy; Gjpdk;    4. ngz;fs; rkj;Jtk;  

A B C D 
 a. 3 4 2 1 
 b. 4 3 2 1 
 c. 4 2 3 1 
 d. 4 1 2 3  e. tpil njhpatpy;iy 
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124. Consider the following statements 
1. Elephant was adopted as the symbol of the constituent assembly. 
2. Sir BN Rau was appointed as the Legal Advisor. 
3. HVR Iyengar was the secretary to the constituent assembly. 
4. SN Mukherjee was the chief draftsman. 
a. All are correct  b. 1, 2, 3 are correct c. 2, 3, 4 are correct 
d.  1, 3, 4 are correct  e. Answer not know 
gpd;tUk; $w;Wfis MuhaTk;. 
1. murpay; eph;za rigapd; rpd;dkhf ahid Vw;Wf;nfhs;sg;gl;lJ. 
2. rh; BN uht; rl;l MNyhrfuhf epakpf;fg;gl;lhh;. 
3. HVR [aq;fhh; murpay; eph;za rigapd; nrayhsuhf ,Ue;jhh;. 

4. SN Kfh;[p jiyik tiuthsuhf ,Ue;jhh;. 

a. midj;Jk; rhp   b. 1> 2> 3 rhp  c. 2> 3> 4 rhp  
d. 1> 3> 4 rhp  e. tpil njhpatpy;iy 
 

125. Consider the following statements 
1. NA Palkhivala called the preamble the identity card of the constitution. 
2. The preamble is based on the objectives resolution moved by Jawaharlal 

Nehru on 13th December, 1946. 
a. 1 only correct  b. 2 only correct   c. both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. NA ghy;fpthyh Kfg;Giuia murpayikg;gpd; milahs ml;il vd;whh;. 
2. Kfg;GiuahdJ> brk;gh; 13> 1946 y; [t`h;yhy; NeUthy; 
Kd;itf;fg;gl;l Fwpf;Nfhs; jPh;khdj;ij mbg;gilahff; nfhz;lJ. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

126. The cases relating to preamble are  
1. Berubari Union case, 1960. 
2. Shankari Prasad case, 1951. 
3. Keshavananda Bharathi case, 1973. 
4. LIC of India case, 1995. 
a. All are correct  b. 1, 2, 3 are correct  c. 2, 3, 4 are correct 
d. 1, 3, 4 are correct e. Answer not known 
Kfg;Giu njhlh;ghd tof;Ffs;. 
1. ngUghhp a+dpad; tof;F> 1960 
2. rq;fhp gpurhj; tof;F> 1951 
3. Nfrtde;j ghujp tof;F> 1973 
4. LIC M/g; ,e;jpah tof;F> 1995 
a. midj;Jk; rhp   b. 1> 2> 3 rhp   c. 2> 3> 4 rhp 
d. 1> 3> 4 rhp  e. tpil njhpatpy;iy  
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127. Basha borrowed ` 8,500 from a bank a particular rate of simple interest.  
After 3 years, he paid ` 11,050 to settle his debt.  At what rate of interest he 
borrowed the money? 
a. 5%  b. 10% c. 15% d. 20% e. Answer not known 
ghl;~h vd;gtu; xU tq;fpapypUe;J xU Fwpg;gpl;l jdptl;b tPjj;jpy; ` 
8,500If; fldhfg; ngw;whu;.  %d;W Mz;Lfs; fopj;J mtu; ` 11,050Ir; 
nrYj;jpf; flid milj;jhu; vdpy; tl;b tPjk; vt;tsT? 
a. 5%  b. 10% c. 15% d. 20%         e. tpil njhpatpy;iy 

 
128. Consider the statements regarding amendability of the preamble. 

1. Preamble was amended by 42nd CAA, 1976, it inserted the words 
socialist, secular and integrity. 

2. 44th CAA , 1978 amended the preamble and inserted the word “Unity”. 
a. Both are correct  b. Both are wrong   c. 2 only correct 
d. 1 only correct  e. Answer not known 
Kfg;Giuapd; jpUj;jk; gw;wpa gpd;tUk; $w;Wfisf; fhz;f. 
1. Kfg;GiuahdJ 42 tJ murpayikg;G rl;lj;jpUj;jk; 1976 d; gb 
rkjh;kk;> kw;Wk; kjr;rhh;gw;w kw;Wk; xUq;fpize;j Mfpa thh;j;ijfis 
Nrh;j;jJ. 
2. 44 tJ murpayikg;G rl;ljpUj;jk; 1978 d; gb Kfg;Giuapy; jpUj;jk; 
nra;J ‘xw;Wik’ vDk; thh;j;ijia Nrh;j;jJ. 
a. ,uz;Lk; rhp  b. ,uz;Lk; jtW   c. 2 kl;Lk; rhp 
d. 1 kl;Lk; rhp  e. tpil njhpatpy;iy 
 

129. Match the following 
A. Art 1 1. Power to admit new states. 
B. Art 2 2. Laws under Art 2, 3 are not considered as constitutional 

amendments. 
C. Art 3 3. Alter boundaries of states. 
D. Art 4 4. India is a union of states. 

A B C D 
a. 4 1 3 2 
b. 3 2 1 4 
c. 2 1 3 4 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf. 
A. ~uj;J 1  1. Gjpa khepyq;fis mDkjpf;Fk; mjpfhuk;    
B. ~uj;J 2  2. ~uj;J 2> 3 d; fPo; cs;s rl;lq;fs; murpayikg;G  

jpUj;jq;fs; my;y 
C. ~uj;J 3  3. khepyq;fspd; vy;iyfis khw;Wjy;   

D. ~uj;J 4  4. ,e;jpah khepyq;fspd; xd;wpak;. 
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A B C D 
a. 4 1 3 2 
b. 3 2 1 4 
c. 2 1 3 4 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

130. Choose the correct statements about status of Tiger Report 2022 
1. NTCA released the status of tigers, co-predators and prey in India – 2022 

Report 
2. It covers 53 tiger reserves 
3. Madhyapradesh (785) has the highest number of tigers 
4. Tiger population in Tamil nadu – 306 
a. 1, 2   b. 3, 4     c. 1, 2, 3 
d. 1, 2, 3, 4  e. answer not known 
Gypfspd; epiy Fwpj;j 2022Mk; Mz;bw;fhd mwpf;if gw;wpa rhpahd 
$w;Wfis Njh;T nra;f 
1. ,e;jpahtpy; Gypfs;> ,iz Ntl;ilahLgtu;fs; kw;Wk; ,iuapd; epiyia 

NTCA ntspapl;lJ - 2022 mwpf;if 
2. ,J 53 Gypfs; fhg;gfq;fis cs;slf;fpaJ 
3. kj;jpag;gpuNjrj;jpy; (785) kpf mjpf vz;zpf;ifapyhd Gypfs; cs;sd 
4. jkpo;ehl;bYs;s Gypfspd; vz;zpf;if - 306 
a. 1, 2   b. 3, 4     c. 1, 2, 3 
d. 1, 2, 3, 4  e. tpil njhpatpy;iy 

 
131. Choose the correct statements 

1. Forest conservation (amendment) bill – 2023 amend the forest 
conservation act – 1980 

2. The act has given a new name through the amendment – VAN 
ADHINIYAM 

a. 1 only   b. 2 only   c. both 1, 2 
d. none of these  e. answer not known 
rupahd mwpf;iffisj; Nju;e;njLf;fTk; 
1. tdg; ghJfhg;G (jpUj;j) kNrhjh - 2023 tdg; ghJfhg;Gr; rl;lk; 1980 I 

jpUj;jk; nra;fpwJ. 
2. rl;lkhdJ jpUj;jj;jpd; %yk; td mjpdpak; vd;w Gjpa ngaiu 

toq;fpAs;sJ 
a. 1 kl;Lk;     b. 2 kl;Lk;    c. ,uz;Lk; 1> 2  

d. ,tw;wpy; vJTkpy;iy  e. tpil njhpatpy;iy 
 

132. What is compound Interest on Rs. 5,000 at 12% per annum for 2 years 
compounded annually? 
a. Rs. 1,227   b. Rs. 1,272    c. Rs. 2,172 
d. Rs. 2,721   e. Answer not known 
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&.5>000f;F 12% Mz;L tl;bapy; 2 Mz;LfSf;F> Mz;Lf;nfhU Kiw tl;bf; 
fzf;fplg;gl;lhy; fpilf;Fk; $l;L tl;bahdJ vt;tsT? 
a. Rs. 1,227   b. Rs. 1,272    c. Rs. 2,172 
d. Rs. 2,721   e. tpil njhpatpy;iy 

 
133. How many given pairs are correct? 

1. July 11 – World Population Day 
2. July 15 – World Youth Skills Day 
3. July 18 – International Tiger Day 
4. July 29 – Tamil Nadu Day 
a. one pair   b. two pairs   c. three pairs 
d. four pairs   e. answer not known 
nfhLf;fg;gl;l vj;jid N[hb rupahdJ? 
1. [_iy 11 - cyf kf;fs; njhif jpdk; 
2. [_iy 15 - cyf ,isQu; jpwd; jpdk; 
3. [_iy 18 - ru;tNjr Gypfs; jpdk; 
4. [_iy 29 - jkpo;ehL jpdk; 
a. xU ,iz   b. ,uz;L ,iz   c. %d;W ,iz  

d. ehd;F ,iz  e. tpil njhpatpy;iy 
 

134. Consider the following 
Statement 1 (S1): To say (how an act is to be performed) is (indeed) easy for 
any one 
Statement 2 (S2): far difficult it is to do according to what has been said. 
a. S2 correct but S2 incorrect b. S2 incorrect but S2 correct 
c. S1 and S2 correct   d. S1 and S2 are incorrect 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W 1 (S1): ',r;nraiy ,t;thW nra;J Kbf;fyhk;" vd;W nrhy;Yjy; 
vth;f;Fk; vspadthk;.  
$w;W 2 (S2): nraiy nrhy;ypagb nra;J Kbj;jy; mhpadthk;.  

a. S1 rhp Mdhy; S2 jtW  b. S1 jtW Mdhy; S2 rhp  
c. S1 kw;Wk; S2 ,uz;Lk; rhp  d. S1 kw;Wk; S2 ,uz;Lk; jtW 

e.  tpil njhpatpy;iy 
 

135. He may go on a mission (to foreign rulers) who has combined in him all 
these three: 
a. natural sense    b. an attractive bearing 
c. well-tried learning   d. All of these 
e. Answer not known 
vtw;wpd; nghUj;jk; cilatd; J}J ciuf;Fk; njhopYf;F nry;yyhk;?  
a. ,aw;f;if mwpT    b. tpUk;gj;jf;f Njhw;wk;   

c. Muha;r;rp cilaf; fy;tp    d. ,it midj;Jk;  
e. tpilnjhpatpy;iy  



 

42 | Page APPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 
 

136. Arrange the following in chronological order regarding Dr. B.R Ambedkar  
1. Research paper on ‘castes in India’ 
2. Member of the defense advisory committee  
3. Started Independent Labour party  
a. 1-2-3  b. 1-3-2    c. 3-2-1  
d. 3-1-2     e. Answer not known 
Dr. gp.Mh;. mk;Ngj;fh; njhlh;ghdtw;iw fhythpirg;gLj;Jf.  
1. ",e;jpahtpy; rhjpfs;" gw;wpa Ma;Tf; fl;Liu  
2. ghJfhg;G MNyhridf; Fotpd; cWg;gpdh; 
3. Rje;jpu njhopyhsh; fl;rpia njhlq;fpdhh;  
a. 1-2-3  b. 1-3-2    c. 3-2-1   
d. 3-1-2     e. tpil njhpatpy;iy 

 
137. Consider the following statements regarding citizens 

1. Citizens are full members of the Indian state and owe allegiance to it. 
2. Citizens enjoy all civil and political rights. 
3. Rights under Article 15, 16, 19, 29, 30 are exclusively available only to 

citizens. 
a. All are correct  b.1 and 2 are correct c. 2 and 3 are correct 
d. 1 and 3 are correct e. Answer not known 
Fbkf;fs; njhlh;ghd gpd;tUk; $w;Wfisf; fhz;f.  
1. Fbkf;fs; ,e;jpa murpd; KO cWg;gpdh;fs; kw;Wk; muRf;F tpRthrkhf 
,Ug;gth;fs;. 
2. Fbkf;fs; midj;J rptpy; kw;Wk; murpay; chpikfis 
mDgtpf;fpwhh;fs;. 
3. ~uj;J 15> 16> 19> 29> 30 d; fPohd chpikfs; ,e;jpa Fbkf;fSf;F 
kl;LNk fpilf;Fk; 
a. midj;Jk; rhp   b. 1 kw;Wk; 2 rhp  c. 2 kw;Wk; 4 rhp  
d. 1 kw;Wk; 3 rhp  e. tpil njhpatpy;iy  

 
138. Consider the following statements 

1. The high level committee on Indian Diaspora was chaired by C 
Rangarajan. 

2. The committee recommended the amendment to citizenship act ,1995 to 
provide for grant of dual citizenship to persons of Indian origin (PIO’s) 
belonging to certain specified countries. 

a. Both are correct  b. 1 only correct   c. 2 only correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. Gyk;ngah; ,e;jpah;fSf;fhd cah;kl;lf;FO rp. uq;fuh[d; jiyikapy; 
mikf;fg;gl;lJ. 
2. FbAhpikr;rl;lk;> 1995 y; jpUj;jk; nra;af; ,f;FO ghpe;Jiuj;J ,e;jpa 
tk;rhtspiar; Nrh;e;jth;fSf;F (PIO’S) Fwpg;gpl;l ehLfs; ,ul;ilf; 
Fbahpik toq;f toptif nra;jJ. 
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a. ,uz;Lk; rhp  b. 1 kl;Lk; rhp   c. 2 kl;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
139. If a sum on compound interest becomes two times in 2 years, then with the 

same interest rate, the sum will become 16 times in... 
a.  5 years             b.  6 years              c.  4 years    
d.  8 years  e. Answer not known 
$l;L tl;b mbg;gilapy; xU njhif 2 Mz;Lfspy; 2 klq;F MfpwJ 
vdpy;> mNj tl;b tPjj;jpy;> me;jj; njhif vj;jid Mz;Lfspy; 16 klq;F 
MFk;? 
a. 5 Mz;Lfs; b. 6 Mz;Lfs;  c. 4 Mz;Lfs;  
d. 8 Mz;Lfs; e. tpil njhpatpy;iy 

 

140. Consider the following statements 
1. PIO card scheme was introduced in August 19, 2002 
2. OCI card scheme was introduced from December 2, 2005 
3. Overseas Citizen of India cardholder scheme was introduced by 

citizenship (amendment) act, 2015. 
a. all are correct  b. 2, 3 are correct  c. 1, 2 are correct  
d. 1, 3 are correct  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. PIO ml;il jpl;lk; Mf];l; 19> 2002 y; mwpKfg;gLj;jg;gl;lJ. 

2. OCI ml;il jpl;lk;; brk;gh; 2> 2005 Kjy; mwpKfg;gLj;jg;gl;lJ. 
3. ,e;jpahtpd; ntspehl;L Fbkfd; ml;iljhuh; jpl;lk; FbAhpik (jpUj;jr;) 
rl;lk;> 2015 %yk; mwpKfg;gLj;jg;gl;lJ. 
a. midj;Jk; rhp   b. 2> 3 rhp    c. 1> 2 rhp  

d. 1> 3 rhp   e. tpil njhpatpy;iy 
 

141. The Nature of “Socialist Principles” embodied in the constitution of India is 
based on the 
(1) Influence of socialist Ideas on state activity 
(2) Aims at establishing a Democratic socialist state 
(3) Collective socialist state pattern of Eastern Europe 
(4) Influence of Complete Marxism 
a. (1) and (3) only Correct  b. (3) and (2) only Correct  
c. (4) and (1) only Correct  d. (1) and (2) only Correct 
e. Answer not known 
,e;jpa murpayikg;gpy; nghjpe;Js;s Nrhryprf; Nfhl;ghl;bd;” jd;ikahdJ> 
(1) muR eltbf;iffspy; Nrhryprf; fUj;Jf;fspd; jhf;fk; 
(2) kf;fshl;rpr; Nrhrypr muR epWTtij Nehf;fkhff; nfhz;lJ. 
(3) fpof;F INuhg;gpaf; $l;Lr; Nrhrypr Kiwiag; Nghd;wJ. 
(4) KOikahd khh;f;rpaj;jpd; jhf;fk; 
a. (1) kw;Wk; (3) Mfpad kl;Lk; rhp b. (3) kw;Wk; (2) Mfpad kl;Lk; rhp 

c. (4) kw;Wk; (1) Mfpad kl;Lk; rhp d. (1) kw;Wk; (2) Mfpad kl;Lk; rhp 
e. tpil njhpatpy;iy 
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142. How many pairs are correctly matched? 
I. Sivakalai   - Thoothukudi 
II. Mayiladumparai - Krishnagiri 
III. Vembakkottai - Virudhunagar 
IV. Thulukkarpatti - Tirunelveli 
a. One pair  b. Two pairs   c. Three pairs 
d. Four pairs e. Answer not known 
rhpahf nghUe;jpa ,izfs; vj;jid? 
I. rptfiy   - J}j;Jf;Fb 
II. kapyhLk;ghiw  - fpU~;zfphp 
III. Ntk;gf;Nfhl;il  - tpUJefh; 
IV. Jyf;fh;gl;b   - jpUney;Ntyp 
a. Xh; ,iz  b. ,U ,izfs;  c. %d;W ,izfs; 

d. ehd;F ,izfs; e. tpil njhpatpy;iy 
 

143. Choose the apt Kural for the following meaning 
Ministers should behave in accordance with the (Divine) light in the person 
of kings and not despise them saying, "He is our junior (in age) and 
connected with our family!". 
a. Knowing the signs, waiting for fitting time, with courteous care, 

Things not displeasing, needful things, declare. 
b. Speak pleasant things, but never utter idle word; 

Not though by monarch's ears with pleasure heard. 
c. Say not, 'He's young, my kinsman,' despising thus your king; 

But reverence the glory kingly state doth bring. 
d. 'We've gained his grace, boots nought what graceless acts we do', 

So deem not sages who the changeless vision view. 
e. Answer not known 
Ml;rpahsUld; goFk; NghJ ,th; vd;idf; fhl;bYk; tajpy; rpwpath;> ,th; 
cwthy; vdf;F ,d;d Kiw Ntz;Lk; vd;W vz;zhky;> Ml;rpahsh; 
,Uf;Fk; gjtpia vz;zp mtUld; goFf – vd;w nghUspd; Fws; ahJ? 
a. Fwpg;gwpe;J fhyq; fUjp ntYg;gpy 

Ntz;Lg Ntl;gr; nrhyy; 
b. Ntl;gd nrhy;yp tpidapy vQ;Qhd;wk; 

Nfl;gpDk; nrhy;yh tply; 
c. ,isah; ,dKiwah; vd;wpfoh; epd;w 

xspNahL xOfg; gLk; 
d. nfhsg;gl;Nlk; vd;nwz;zpf; nfhs;shj nra;ahh; 

Jsf;fw;w fhl;rp ath; 
e. tpil njhpatpy;iy 
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144. Choose the incorrect statements about Subash Chandra Bose 
I. He reached Japanese controlled Singapore from Germany in July 1943, 

issued from there his famous slogan ‘Delhi Chalo’ 
II. He announced the formation of the Azad Hind Government on 15 

August 1943 
III. He opposed the Motilal Nehru Report 
a. I only   b. II only    c. III only  
d. None of these  e. Answer not known 
Rgh~; re;jpuNgh]; gw;wpa jtwhd $w;wpidj; Njh;T nra;f 
I. ,th; [{iy 1943,y; n[h;kdpapypUe;J [g;ghdpa fl;Lg;ghl;bypUe;j 

rpq;fg;g+iu mile;J mq;fpUe;J jdJ ‘nly;yp rNyh’ Kof;fj;jpid 
vOg;gpdhh;. 

II. 15 Mf];l; 1943 md;W Mrhj; `pe;j; murhq;fj;ij cUthf;Ftjhf 
mwptpj;jhh; 

III. Nkhjpyhy; NeUtpd; mwpf;ifapid vjph;j;jhh; 
a. I kl;Lk;   b. II kl;Lk;    c. III kl;Lk; 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

145. If the ratio of Green, Yellow and Black balls in a bag is 4 : 3 : 5, then if there 
are 40 black balls in it, then the total number of balls is  
a. 72 balls   b. 84 balls    c. 96 balls  
d. 108 balls   e. Answer not known 
xU igapy; cs;s gr;ir> kQ;rs; kw;Wk; fUg;Gg; ge;Jfspd; tpfpjk; 4:3:5 
MFk;. mg;igapy; fUg;Gg; ge;Jfspd; vz;zpf;if 40 vdpy;> nkhj;jg; 
ge;Jfspd; vz;zpf;if 
a. 72 ge;Jfs;  b. 84 ge;Jfs;  c. 96 ge;Jfs; 
d. 108 ge;Jfs;  e. tpil njhpatpy;iy 
 

146. Consider the following statements regarding Rettaimalai Srinivasan.  
I. He was the supporter of Justice Party.  
II. He joined in Gandhi’s Servants of Untouchables’ society.  
III. He was a signatory in Poona pact 1934. 
IV. He served as president of the Scheduled Castes’ Federation 
Which of the above statements are correct? 
a. I, III and IV only  b. II, III and IV only  c. I, II and IV only   
d. All the above  e. Answer not known 
,ul;ilkiy rPdpthrd; gw;wpa gpd;tUk; $w;Wfisf; fhz;f 
I. ,th; ePjpf;fl;rpapd; Mjuthsh; 
II. ,th; fhe;jpapd; jPz;lj;jfhNjhh; Copah;> rq;fj;jpy; Nrh;e;jhh; 
III. ,th; G+dh xg;ge;jk; 1934-,y; ifNaOj;jpl;lth; 
IV. ,th; xLf;fg;gl;l kf;fspd; $l;likg;gpd; jiytuhfg; gzpahw;wpdhh; 
a. I> II kw;Wk; IV kl;Lk;  b. II> III kw;Wk; IV kl;Lk;  
c. I> II kw;Wk; IV kl;Lk;  d. midj;Jk;    
e. tpil njhpatpy;iy 
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147. Find out the wrongly matched pair.  
a. Samarasa Sanmarga Sangam   - Religious unity 
b. Samarasa Sutha Sanmarga Sangam  - Abolition of Caste system 
c. Sathya Dharma Sala    - Poverty eradication 
d. Sathya Gana Sabha     - Abolition of untouchability 
e. Answer not known 
jtwhfg; nghUe;jpAs;s ,iziaf; fhz;f 
a. rkur rd;khh;f;f rq;fk;  - rka xw;Wik 
b. rkur Rj;j rd;khh;f;f rq;fk;  - rhjpnahopg;G 

c. rj;jpa jh;k rhiy   - tWik xopg;G 
d. rj;jpa Qhd rig    - jPz;lhik xopg;G 
e. tpil njhpatpy;iy 

 
148. Match the following : 

Amendment Acts    Subject 
A. 53      1. Statehood for Goa 
B. 56      2. Statehood for Sikkim 
C. 55      3. Statehood for Mizoram 
D. 36      4. Statehood for Arunachal Pradesh 
Choose the correct option : 
 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 2 4 
e. Answer not known 
rhpahf nghUj;jp> tpilia Njh;e;njLf;fTk;. 
murikg;G jpUj;jr;rl;lk; vz;  $w;W 
A. 53     1. Nfhth khepy jFjpepiy 

B. 56     2. rpf;fpk; khepy jFjpepiy 
C. 55     3. kpN]huhk; khepy jFjpepiy 
D. 36     4. mUzhry gpuNjrk; khepy jFjpepiy 

 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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149. Reason and Assertion: 
Assertion [A]: The preface of the Constitution is the preamble. 
Reason [R]: According to it, India is a sovereign, socialist, Secular, 
democratic republic.  
a.  [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] is 

correct 
e. Answer not known 
fhuzk; kw;Wk; $w;W Kiw : 
$w;W [A]: “murikg;Gr; rl;lj;jpd;” Kd;Diu jhd; Kfg;Giu vd;W 
   miof;fg;gLfpwJ. 
fhuzk; [R]: mJ ,e;jpahit ,iwahz;ik> rkj;Jtk;> kjr; rhh;gpd;ik> 
   kf;fshl;rpf; FbauR vd;W tiuaiw nra;fpwJ. 
a. $w;W [A] rhp Mdhy; fhuzk; [R] jtW 
b. $w;W [A] Ak; fhuzk; [R]k; rhp; fhuzk; [R] $w;W [A] it rhpahf 

tpsf;FfpwJ. 
c. $w;W [A] jtW> fhuzk; [R] rhp 
d. $w;W [A] Ak;> fhuzk; [R]k; rhp Mdhy; fhuzk; [R] $w;W [A] it rhpahf 

tpsf;ftpy;iy 
e. tpil njhpatpy;iy 
 

150. If 
15 18

25 5

x

y
= =  then the value of x and y is  

a. 3, 30 b. 3,35 c. 5,30  d. 5, 35 e. Answer not known 

15 18

25 5

x

y
= =  vdpy;; x kw;Wk; y – d; kjpg;Gfs; 

a. 3, 30 b. 3,35 c. 5,30  d. 5, 35 e. tpil njhpatpy;iy 
 

151. Match the following: 
Match correctly the borrowings to Indian Constitution from other countries: 

 A. Parliamentary Democracy  1. USA 
 B. Fundamental Rights   2. UK 
 C. Directive Principles of State Policy 3. Canada 
 D. Federation    4. Ireland 
  A B C D 
 a. 3 4 1 2 
 b. 2 4 1 3 
 c. 4 2 1 3 
 d. 2 1 4 3 
 e.  Answer not known 
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fPo;fz;ltw;iwg; nghUj;Jf: 
gpwehLfspypUe;J ,e;jpa murpayikg;gpw;W ngwg;gl;ltw;iw rhpahfg; 
nghUj;Jf: 
A. ghuhSkd;w Kiw kf;fshl;rp 1. mnkhpf;fh 
B. mbg;gil chpikfs;   2. ,q;fpyhe;J 

C. muR newpKiwf; Nfhl;ghLfs; 3. fdlh 
D. $l;lhl;rp     4. mah;yhe;J 

A B C D 
 a. 3 4 1 2 
 b. 2 4 1 3 
 c. 4 2 1 3 
 d. 2 1 4 3 

e.  tpil njhpatpy;iy 

 
152. Choose the correct statements about the National Multidimensional Poverty 

Index 
1. It was released by NITI Aayog 
2. According to second edition of National Multidimensional Poverty 

Index, Tamilnadu registered the largest decline in number of poor 
a. 1 only   b. 2 only    c. Both 
d. None   e. Answer not known 
gyghpkhz tWikf;FwpaPL gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
1. ,f;FwpaPL epjp MNahf; mikg;gpdhy; ntspaplg;gLfpd;wJ 
2. Njrpa gy ghpkhz tWikf; FwpaPl;bd; ,uz;lhtJ fzf;nfLg;gpd;gb 

jkpo;ehl;by; Viofspd; vz;zpf;if kpfg;nghpa mstpy; Fiwe;Js;sJ 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk; 
d. Vjkpy;iy  e. tpil njhpatpy;iy 
 

153. Choose the correct statements about 23rd SCO council of heads of state 
summit 
1. It was chaired by India for the first time 
2. Iran became a full member 
a. 1 only   b. 2 only    c. Both 
d. None   e. Answer not known 
23tJ ~hq;fha; xj;Jiog;G mikg;gpd; ehl;L jiyth;fSf;fhd cr;rp 
khehL gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
1. ,t;tikg;gpd; jiytuhf Kjy; Kiwahf ,e;jpa nray;gLfpwJ 
2. <uhd; KO cWg;gpduhf Nrh;e;jJ 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk; 

d. ,uz;Lky;y  e. tpil njhpatpy;iy 
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154. Choose the correctly matched pairs 
1. Veer Savarkar International Airport – Andaman and Nicobar 
2. Lokmanya Tilak National Award 2023 – Narendra Modi 
3. Urea Gold Scheme – Rajasthan 
a. 1, 2    b. 1, 3    c. 2, 3   
d. All of these  e. Answer not known 
rhpahd nghUe;jpa ,izfisj; Njh;T nra;f 
1. tPh; rthh;f;fh; rh;tNjr tpkhd epiyak; - me;jkhd; kw;Wk; epf;Nfhghh; 
2. Nyhf;khd;a jpyfh; Njrpa tpUJ 2023 – eNue;jpu Nkhb 
3. A+hpah jq;fk; - uh[];jhd; 
a. 1, 2    b. 1, 3    c. 2, 3   
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

155. Choose the correct statements 
I. United Nations convention on Biological Diversity - 1992 
II. Indian Parliament enacted Biodiverstiy Act in 2002 
a. I only   b. II only    c. Both 
d. None   e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. If;fpa ehLfs; rigapd; caphpay; gd;Kfj; jd;ik khehL 1992,y; 

eilngw;wJ 
II. ,e;jpa ghuhSkd;wk; 2002Mk; Mz;L caphpay; gd;Kfj; jd;ik 

rl;lj;ij ,aw;wpaJ 
a. I kl;Lk;   b. II kl;Lk;    c. ,uz;Lk; 

d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

156. Choose the correct statements about Chevaliar Award 
I. It was awarded by the French Government 
II. Recently Aruna Sairam and Shashank Subramanyam were conferred 

with this award 
a. I only   b. II only    c. Both 
d. None    e. Answer not known 
nrthypah; tpUJ gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,J gpnuQ;R murhq;fj;jhy; toq;;fg;gLfpd;wJ 
II. rkPgj;jpy; mUzh rha;uhk; kw;Wk; ~~hq;f; Rg;ukzpak; ,t;tpUjpidg; 

ngw;wdh; 
a. I kl;Lk;   b. II kl;Lk;    c. ,uz;Lk; 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

157. Consider the following 
Assertion (A): The Dharma Chakra Day is observed on July 3 every year 
Reason (R): It is celebrated to commemorate Buddha’s first teaching after 
attaining enlightenment at Sarnath 
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a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A is true and R is false 
d. A is false and R is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jh;k rf;fu jpdk; xt;nthU Mz;Lk; [{iy 3 md;W 
mDrhpf;fg;gLfpd;wJ 
fhuzk; (R): Qhdk; ngw;w gpwF Gj;jh; rhuehj;jpy; Mw;wpa Kjy; 
nrhw;nghopit epidT$Wk; tpjj;jpy; ,e;j jpdk; nfhz;lhlg;gLfpwJ 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
158. The constituent assembly was composed of members along the lines 

suggested by the plan proposed by  
a. Cripps Mission   b. Mountbatten plan c. Wavell plan 
d. Cabinet Mission plan  e. Answer not known 
murpayikg;G eph;za rigapd; cWg;gpdh; thpiria Kd;nkhope;j mikg;G 
gpd;tUtdtw;wpy; vJ? 
a. fphpg;]; jpl;lk;  b. nksz;l;Ngl;ld; jpl;lk;  c. Ntty; jpl;lk; 
d. Nfgpndl; kp~d; jpl;lk; e. tpil njhpatpy;iy 

 
159. The ratio of 43.5: 25 is same as  

a. 2:1  b. 4:1  c. 7:5  d. 7: 10 e. Answer not known 
43.5: 25 vd;gjw;F rkkhd tpfpjk;. 
a. 2:1  b. 4:1  c. 7:5  d. 7: 10        e. tpil njhpatpy;iy  

 
160. How many members appended their signatures to the constitution as finally 

passed? 
a. 289 members  b. 284 members   c. 389 members 
d. 217 members  e. Answer not known 
,Wjpahf epiwNtw;wg;gl;l murpayikg;gpy; vj;jid cWg;gpdh;fs; jq;fs; 
ifnahg;gq;fis ,l;Ls;sdh;? 
a. 289 cWg;gpdh;fs;  b. 284 cWg;gpdh;fs;  c. 389 cWg;gpdh;fs; 

d. 217 cWg;gpdh;fs; e. tpil njhpatpy;iy 
 

161. What was the title of first debate in the constituent assembly? 
a. Objectives resolution b. Election of temporary chairman c. Preamble 
d. None of the above e. Answer not known 
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murpay; eph;za rigapd; Kjy; fl;l tpthjj;jpd; jiyg;G vd;d? 
a. Fwpf;Nfhs; jPh;khdk; b. jw;fhypf jiyth; Njh;jy;  c. Kfg;Giu 

d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 
 

162. The final meeting of the constituent assembly was held on  
a. 26 November, 1949 b. 9 December, 1949  c. 24 January, 1950 
d. 26 January, 1950 e. Answer not known 
murpay; eph;za rigapd; ,Wjpf; $l;lk; eilngw;wJ. 
a. 26 etk;gh; 1949  b. 9 brk;gh; 1949  c. 24 [dthp 1950 
d. 26 [dthp 1950  e. tpil njhpatpy;iy 
 

163. Kalaignar Centenary Library Located at which place in Madurai 
a. Goripalayam   b. Puthunatham  c. Othakadai 
d. Masi Street   e. Answer not known 
fiyQu; E}w;whz;L E}yfk; kJiuapy; ve;j ,lj;jpy; cs;sJ. 
a. Nfhupg;ghisak;   b. GJej;jk;   c. xj;jf;fil  
d. khrp njU   e. tpil njhpatpy;iy 

 
164. Although the king be utterly ignorant, it is the duty of the minister to give 

a. Minister should resign his job 
b. Minister should give sound advice to king 
c. The Minister should seek the support of the hostile country 
d. The minister must overthrow the regime by his intrigue 
e. Answer not known 
mwpTWj;Jthhpd; mwpit Vw;fhkYk; jhDk; mwpahjtdhfTk; murd; 
,Ue;jhy; mikr;ru; vd;d nra;a Ntz;Lk;? 
a. mikr;ru; mikr;R gzpiaj; Jwf;f Ntz;Lk;. 
b. mikr;ru; murDf;F cWjpahdtw;iw vLj;jf; $Wjy; Ntz;Lk;. 
c. mikr;ru; gifehl;L murdpd; Jizia ehlNtz;Lk;. 
d. mikr;ru; jd; #o;r;rpahy; Ml;rpia ftpo;f;f Ntz;Lk;. 
e. tpil njhpatpy;iy 
 

165. On which among the following dates, executed on  of Bhagat Singh took 
was?  
a.  March 19,1931   b.  April 23, 1931   c.  March 23, 1931   
d.  March 14, 1931  e. Answer not known 
gpd;tUk; ve;j ehspy;> gftj;rpq;fpd; Jhf;F jz;lid toq;fg;gl;l ehs; ? 

 a. 1931> khh;r; 19  b. 1931> Vg;uy; 23  c. 1931> khh;r; 23  

d. 1931> khh;r; 14  e. tpil njhpatpy;iy 
 

166. Sir A.Ramasamy commented on Periyar that he was 
a. Socrates of Tamil Nadu    b. Rouseou of Tamil Nadu 
c. Ingersoll of Tamil Nadu    d. Lenin of Tamil Nadu 
e. Answer not known 
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je;ij nghpahh; Fwpj;J rh;.V. ,uhkrhkp Kjypahh; ,t;thW $wpdhh;? 
a. jkpo;ehl;bd; rhf;uB];  b. jkpo;ehl;bd; &Nrh  
c. jkpo;ehl;bd; ,q;fh;rhy; d. jkpo;ehl;bd; nydpd; 
e. tpil njhpatpy;iy 

 
167. Find out the wrong statement about Ma.Po.Si? 

a. Ra. P. Sethupillai called him as “Silambu selvar” 
b. He started the movement “Tamilarasu Kazhagam” on 1956 
c. His autobiography is named as “Enathu Porattam” 
d. His book “Vallalar kanda Orumaipadu” won Sahithya Academy award 
e. Answer not known  

 k.ngh.rp. gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ?  
a. uh.gp. NrJg;gps;is mth;fshy; 'rpyk;G nry;th;' vd;W miof;fg;gLfpwhh;.  
b. 1956 y; "jkpouRf; fofk;' vd;w ,af;fj;ij epWtpdhh;.  
c. “vdJ Nghuhl;lk;" vd;w ngahpy; jd; tuyhw;iw vOjpdhh; 
d. ,tuJ 'ts;syhh; fz;l xUikg;ghL" vd;w E}y; rhfpj;a mfhlkp tpUJ 

ngw;Ws;sJ.  
e. tpil njhpatpy;iy 

 
168. Who is known as ‘Father of Kumari’? 

a. Jeevanandham  b. Ma. Po.Si   c. Nesamani 
d. Ramanathan  e. Answer not known 

 "Fkhpj; je;ij" vd;W miof;fg;gLgth; ahh;?  
 a. [Pthde;jk;  b. k.ngh.rp    c. Nerkzp 
 d. ,uhkehjd;   e. tpil njhpatpy;iy 

 
169. Find out the wrongly matched pair.  

a. Kumarilapattar   - Thandravarthiga     
b. Adhisankarar  - Sowndaryalahari 
c. Gangadevi   - Madura Vijayam      
d. Kalhanar    - Deepa Vamsam  
e. Answer not known 
jtwhfg; nghUe;jpAs;s ,iziaf; fz;lwpf.  
a. Fkhpygl;lh;   - je;jputhh;jpfh  
b. Mjprq;fuh;   - nrse;jh;ay`hp  

c. fq;fhNjtp   - kJuh tp[ak;  

d. fy;`dh;  - jPgtk;rk;  
e. tpil njhpatpy;iy 

 
170. The first linguistic provinces commission was set up by  

a. President   b. constituent assembly  c. Prime Minister 
d. Congress   e. Answer not known 
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Kjy; nkhopthhp khfhz Mizak; mikj;jJ? 
a. FbauRj;jiyth;  b. murpay; eph;za rig  c. gpujkh; 
d. fhq;fpy];   e. tpil njhpatpy;iy 
 

171. The state reorganisation commission established in 1953 was headed by 
a. KM Panikkar  b. HN Kunzru   c. Vallabhai Patel 
d. Fazl Ali   e. Answer not known 
1953y; epWtg;gl;l khepy kWrPuikg;G Mizak; ahh; jiyikapy; 
mikf;fg;gl;lJ. 
a. KM gdpf;fh;  b. HN Fd;];U   c. ty;ygha; gNly; 
d. /gry; myp  e. tpil njhpatpy;iy 

 
172. The 14 states and 6 Union territories came into existence in 

a. 1 June, 1956  b. 1 November, 1956  c. 1 December, 1956 
d. 1 May, 1956  e. Answer not known 
14 khepyk; (k) 6 A+dpad; gpuNjrq;fs; cUthf;fg;gl;L eilKiwf;F te;j 
ehs; 
a. 1 [Pd; 1956  b. 1 etk;gh; 1956   c. 1 brk;gh; 1956 
d. 1 Nk 1956  e. tpil njhpatpy;iy 

 
173. Which of the following is the 25th state of India? 

a. Sikkim   b. Arunachal Pradesh  c. Tripura 
d. Goa   e. Answer not known 
,e;jpahtpd; 25 tJ khepyk; vJ? 
a. rpf;fk;    b. mUzhr;ryg;gpuNjrk;  c. jphpGuh 
d. Nfhth   e. tpil njhpatpy;iy 
 

174. Who is called as Water Man of India? 
a. Rajiv Menon   b. Rajendra Singh  
c. Subash Palelkar   d. Sultan Ahamed Ismail 
e. Answer not known 
,e;jpahtpd; ePu; kdpju; vd;W miof;fg;gLgtu; ahu;? 
a. uh[Pt; Nkdd;    b. uhN[e;jpu rpq;   c. Rgh~; ghNyy;fu;  

d. Ry;jhd; mfkJ ,];khapy; e. tpil njhpatpy;iy 
 

175. _________ pasikaaNpaan aayinunhj seyyaRka 
saandroar pazhikkum vinai 
a. eendral   b. pazhimalaidhu  d. inarulthum 
d. iraikadyaan  e. Answer not known 
__________ grpfhz;ghd; MapDe; nra;aw;f  
rhd;Nwhh; gopf;Fk; tpid.  
a. <d;whs;    b. gopkiye;J    c. ,zUo;j;Jk;  
d. ,iwfbahd;   e. tpil njhpatpy;iy 
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176. In which year, Ambedkar organised the All India Scheduled Castes 
Federation as a political party? 
a. 1936  b. 1938    c. 1940  
d. 1942  e. Answer not known 
midj;jpe;jpa gl;bay; ,d $l;likg;ig xU murpay; fl;rpahf mk;Ngj;fh; 
cUthf;fpa Mz;L _________ 
a. 1936  b. 1938    c. 1940  
d. 1942  e. tpil njhpatpy;iy 

 
177. The Justice Party leader who made a legislation that no knowledge of 

Sanskrit was required for the study of Medicine, thereby releasing the 
Medical Education from the English to the Tamils, was 
a. The king of Panagal   b. The king of Bobbili 

  c. A.B.Bathro    d. A. Subbarayalu Reddi 
 e. Answer not known 

kUj;Jt gbg;Gf;Fr; rk];fpUjk; gbj;jpUf;f Njitapy;iy vd;w nghpahh; 
fUj;ij Mizahf gpwg;gpj;j ePjpf;fl;rpj; jiyth; ahh;?  
a. gdfy; murh;   b. nghg;gpyp murh;  c. V.gp. ghj;Nuh  

d. V. Rg;guhAY (nul;b)   e. tpil njhpatpy;iy 
 

178. The constructive programme of atmashakti (self-help) was outlined by 
whom? 
a. B.G Tilak    b. Swami Vivekananda 
c. Rabindranath Tagore  d. Mahatma Gandhi 
e. Answer not known 
Mj;krf;jp (Ra cjtp)-d; Mf;fG+h;tkhd jpl;lk; ahuhy; Nfhbl;Lf; 
fhl;lg;gl;lJ?  
a. gp.[p. jpyfh;   b. Rthkp tpNtfhde;jh; 
c. utpe;jpuehj; jh$h;  d. kfhj;kh fhe;jp  
e. tpil njhpatpy;iy 
 

179. Rabindranath Tagore got Knighthood in the year: 
a. 1910   b.  1915     c.  1920    
d.  1925  e. Answer not known 

 utPe;jpuehj; jh$h; iel;`_l; (tPuj;jpUkfd;) gl;lj;ij ngw;wJ  vg;nghOJ? 
a. 1910   b.  1915     c.  1920    
d.  1925  e. tpil njhpatpy;iy 

 
180. The backward class leader who participated in the First Self Respect 

Conference was 
  a. Dr. Ambedkar     b. Ayothi Das Pandithar 
  c. Irattaimalai Srinivasan   d. Sami Sahajananda 
 e. Answer not known 
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Kjy; Rakhpahij khehl;by; fye;J nfhz;l jho;j;jg;gl;l tFg;Gj; jiyth; 
ahh;?  
a. lhf;lh; mk;Ngj;fh;    b. mNahj;jpjh]; gz;bjh;  

c. ,ul;ilkiy rPdpthrd;  d. rhkp rf[hde;jh  
e. tpil njhpatpy;iy 

 
181. The combined programmer of Self-Respecters and communists came to be 

called as _______________ plan. 
 a. Chengalpat Plan  b. Erode Plan  c. Virudhunagar Plan  
 d. Salem Plan  e. Answer not known 

Rakhpahij ,af;fj;jhh; kw;Wk; fk;A+dp];l; nghJTilikthjpfspd; $l;Lj; 
jpl;lj;jpw;F ________ jpl;lk; vd;gh;.  
a. nrq;fy;gl;L jpl;lk;  b. <NuhL jpl;lk;   c. tpUJefh; jpl;lk;   

d. Nryk; jpl;;lk;   e. tpil njhpatpy;iy 
 

182. The social reform wing envisaged by E.V.R Periyar after his visit to Soviet 
Union was  
a. Self-Respect socialist party  b. Self-Respect league 

 c. Thani Tamil Iyakkam   d. Republic 
 e. Answer not known 

<.nt.uh. nghpahh; Nrhtpaj; A+dpad; nrd;W te;j gpwF cUthf;f jPh;khdpj;j 
r%f rPh;jpUj;jg; gphpT ____________ MFk;.  
a. Rakhpahij nghJeyf; fl;rp  b. Rakhpahijf; FOkk;  

c. jdpj;jkpo; ,af;fk;    d. FbauR 
e. tpil njhpatpy;iy 

 
183. “The one who sees humans as human is human” Who said this? 

a. Periyar    b. Ambedkar   c. M.C. Raja   
d. Ayothidasar  e. Answer not known 
“kdpjh;fis kdpjh;fshfg; ghh;f;Fk; vtNuh> mth;jhd; kdpjh;” vd;W 
Koq;fpath; ahh;? 
a. nghpahh;    b. mk;Ngj;fhh;   c. M.C. uh[h 
d. mNahj;jpjhrh;  e. tpil njhpatpy;iy 

 
184. The special provisions as to citizenship of persons covered by the Assam 

Accord was incorporated by  
a. citizenship (amendment) act ,1985 
b. citizenship (amendment) act, 2003 
c. citizenship (amendment) act, 2005 
d. citizenship (amendment) act, 2013 
e. Answer not known 
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m];]hk; cld;gbf;ifapd; fPo; cs;s egh;fspd; FbAhpik njhlh;ghd 
rpwg;G tifafq;fs; vjd; %yk; ,izf;fg;gl;lJ? 
a. FbAhpik (jpUj;jr;) rl;lk;> 1985 
b. FbAhpik (jpUj;jr;) rl;lk;> 2003 
c. FbAhpik (jpUj;jr;) rl;lk;> 2005 
d. FbAhpik (jpUj;jr;) rl;lk;> 2013 

 
185. Which of the following district achieved second place in the water 

conservation and management category for the year 2022? 
a. Kanchipuram  b. Namakkal   c. Coimbatore 
d. Erode   e. Answer not known 
gpd;tUtdtw;wpy; ve;j khtl;lk; 2022Mk; Mz;bw;fhd ePh; tsq;fhj;jy; 
kw;Wk; Nkyhz;ikg; gphptpy; ,uz;lhk; ,lj;ijg; ngw;Ws;sJ? 
a. fhQ;rpGuk;   b. ehkf;fy;    c. Nfhak;Gj;J}h; 
d. <NuhL   e. tpil njhpatpy;iy 
 

186. The e-SARAS App was launched under which of the following scheme? 
a. Deendayal Antyodaya Yojana (NRLM) 
b. Mahatma Gandhi National Rural Employment Guarantee Scheme 
c. National Food Security Scheme 
d. Pradhan Mantri Jandhan Yojana 
e. Answer not known 
e-SARAS vd;w nrayp gpd;tUk; ve;j jpl;lj;jpd;fPo; 
mwpKfg;gLj;jg;gl;Ls;sJ? 
a. jPdjahs; me;jpNahjah jpl;lk; (NRLM) 
b. kfhj;kh fhe;jp Njrpa Cuf Ntiytha;g;G cWjpj;jpl;lk; 
c. Njrpa czT ghJfhg;G jpl;lk; 
d. gpujk ke;jphp [d;jd; jpl;lk; 
e. tpil njhpatpy;iy 

 
187. As the mirror reflects what is near so does the ______ show what is 

uppermost in the mind. 
a. heart   b. character    c. face  
d. knowledge  d. answer not known 
jd;id mLj;j nghUisj; jd;dplk; fhl;Lk; gspq;F Nghy;> xUtDila 
neQ;rj;jpy; kpFe;Js;sij mtDila ___________ fhl;Lk;.  
a. kdk; b. Fzk;  c. Kfk; d. mwpT e. tpil njhpatpy;iy 
 

188. While delivering the presidential address, the Congress President who 
advocated the introduction of Roman script for Hindi Language was 
a. Mahatma Gandhi  b. Jawaharlal Nehru 
c. Abul Kalam Azad  d. Subhash Chandra Bose  
e. Answer not known 
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ve;j fhq;fpu]; jiyth; jd; jiyik ciuapy; ,e;jp nkhopf;F gjpyhf 
Nuhkhdpa vOj;JKiwia mwpKfg;gLj;j Ntz;Lk; vd $wpdhh;. 
a. kfhj;kh fhe;jp   b. [t`h;yhy; NeU 

c. mGy;fyhk; M]hj;  d. Rgh]; re;jpuNgh]; 

e. tpil njhpatpy;iy 
 

189. ‘Religion means you accept superstitious beliefs’ – who said this? 
a. Periyar    b. Ambedkar   c. M.C. Raja   
d. Ayothidasar  e. Answer not known 
“rkak; vd;why; ePq;fs; %lek;gpf;iffis Vw;Wf; nfhs;fpwPh;fs; vd;W 
nghUs;” vd;W $wpath; ________ 
a. nghpahh;   b. mk;Ngj;fhh;   c. M.C. uh[h 
d. mNahj;jpjhrh;  e. tpil njhpatpy;iy 
 

190. Choose the wrong statement regarding Vaikundha Swamigal.  
a. He started Samathuva Sangam.  
b. He set up a common well in Swamithoppu.  
c. His movement focussed on social equality.  
d. He supported conversion to Buddhism.  
e. Answer not known 
itfe;j Rthkp gw;wpa jtwhd $w;iwf; fhz;f 
a. ,th; rkj;Jt rq;fj;ij Vw;gLj;jpdhh; 
b. rhkpj; Njhg;gpy; nghJf;fpzW cUthf;fpy; nfhLj;jhh; 
c. ,tuJ ,af;fk; r%f rkj;Jtj;ij ikakhff; nfhz;lJ 

d. ,th; Gj;j kjkhw;wj;ij Mjhpj;jhh; 

e. tpil njhpatpy;iy 
 

191. By which constitutional amendment did Delhi get the Legislative Assembly? 
a. 67th  b. 69th  c. 71st  d. 79th  e. Answer not known 
 ve;j murpayikg;G rhrd jpUj;jk; nly;ypf;F rl;lrigiag; ngw;Wj; 
je;jJ? 
a. 67-tJ b. 69-tJ c. 71-tJ d. 79-tJ e. tpil njhpatpy;iy 
 

192. The Preamble and the Directive Principles of state policy of the constitution 
of India comprises the Ideology of 
a. Egalitarianism   b. Utilitarianism  c. Liberalism 
d. Communism   e. Answer not known 
,e;jpa murikg;gpd; Kfg;Giu kw;Wk; muR topfhl;L newpKiwfs; 
cs;slf;fpa rpj;jhe;jkhdJ 
a. rkj;Jtthjk;   b. gad;ghl;Lthjk;  c. jhuhsthjk; 
d. nghJTlikthjk;  e. tpil njhpatpy;iy 
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193. Who said that the “Service which Mahatma Gandhi has rendered to India 
and to the cause of India’s freedom is so unique and his name will be 
written in letters of gold in our national history”? 
a. Rabindranath Tagore   b. C. Rajagopalachari   
c. Jawaharlal Nehru  d. Subhash Chandra Bose   
e. Answer not known 
“kfhj;kh fhe;jp ,e;jpahtpw;F nra;j Nrit> ,e;jpahtpd; Rje;jpuj;jpw;F 
Kf;fpa fhuzk;> kw;Wk; kpfTk; jdpj;JtkhdJ MFk;. NkYk; mtuJ ngah; 
ekJ Njrpa tuyhw;wpy; jq;f vOj;Jfspy; vOjg;gLk;” vd;W $wpath; ahh;?. 
a. utpe;jpuehj; jh$h;  b. C. uh[Nfhghyr;rhp    
c. [t`h;yhy; NeU  d. Rgh~;; re;jpu Ngh];   

e. tpil njhpatpy;iy 
 

194. Who compared the Salt March of Gandhi with Napoleon’s march to Paris on 
his return from Elba? 
a. Jawaharlal Nehru   b. Subash Chandra Bose 
c. Motilal Nehru    d.  Rabindranath Tagore 
e. Answer not known 
vy;ghtpypUe;J jpUk;gpaTld; fhe;jpapd; cg;G re;jpahfpufk; ghhP]pd; 
neg;Nghypadpd; rj;ahfpufj;Jld; xg;gplg;gl;lth; ahh;?  
a. [t`h;yhy; NeU    b. Rgh~; re;jpuNgh];  
c. Nkhjpyhy; NeU    d. utPe;jpuehj; jh$h;  
e. tpil njhpatpy;iy 

 
195. Who was the Minister of Agriculture under the Ministry of C.N.Annadurai? 

a. Nedunchezhian   b. Madavan   c. Sadiq Patsha 
d. Govindasamy   e. Answer not known 
rp.vd;. mz;zhJiu mikr;ruitapy; Ntshz;Jiw mikr;ruhf ,Ue;jth; 
ahh;? 
a. neLQ;nropad;   b. khjtd;   c. rhjpf; ghl;~h 

d. Nfhtpe;jrhkp   e. tpil njhpatpy;iy 
 

196. ____ Defence Minister of Interim Government of India in 1946, A.D. 
a. Sardhar Vallabhbhai Patel b. Baldev Singh 
c. Gopala Krishna Gokhale d. Bala Gangadhara Thilak 
e. Answer not known 
fp.gp. 1946-k; Mz;L mikag;ngw;w ,ilf;fhy ,e;jpa murpd; ghJfhg;G 
mikr;ruhf ,Ue;jth;. 
a. rh;jhh; ty;ygha; gl;Nly; b. gy;Njt; rpq; 
c. Nfhghy fpU~;z NfhfNy d. ghyfq;fhju jpyfh; 
e. tpil njhpatpy;iy 
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197. Which of the following city has become the first Indian City to be part of the 
world cities culture forum? 
a. Chennai   b. Bengaluru   c. Calcutta 
d. New Delhi e. Answer not known 
gpd;tUk; ve;j efuk; cyf efuq;fs; fyhr;rhu kd;wj;jpy; mq;fk; tfpf;Fk; 
Kjy; ,e;jpa efukhf khwpAs;sJ? 
a. nrd;id  b. ngq;f@U   c. fy;fj;jh 
d. GJnly;yp e. tpil njhpatpy;iy 
 

198. The appeal from the Federal Court of India established by the Government 
of India Act, 1935 was taken by 
a. Viceroy of India  b. Secretary of State for India c. King of England  
d. Privy Council  e. Answer not known 
1935 murpayikg;Gr; rl;lj;jhy; epWtg;gl;l $l;lhl;rp ePjpkd;wj;jpy; Nky; 
KiwaPL _____ vLj;Jf; nfhs;sg;gl;lJ. 
a. ,e;jpa it];uhahy; b. ,e;jpa muRj;Jiw nrayhsuhy; 

c. ,q;fpyhe;J muruhy; d. Nfhkiw kd;wj;jhy; e. tpil njhpatpy;iy 
 

199. In India, the ultimate sovereign power rests with 
a. Indian People  b. Prime Minister of India c. President of India 
d. Elected leaders of India e. Answer not Known 
,e;jpahtpd; KOikahd ,iwahz;ik mjpfhuk; ngw;wpWg;gJ. 
a. ,e;jpa kf;fs;   b. ,e;jpa gpujkh;   

c. ,e;jpaFbauRj; jiyth; d. Njh;e;njLf;fg;gl;l ,e;jpa jiyth;fs; 
e.  tpil njhpatpy;iy 
 

200. By which Act the name Uttranchal was changed into Uttarakhand? 
a. The Uttranchal (Alteration of Name) Act, 2006 
b. The Uttranchal (Alteration of Name) Act, 2000 
c. The Uttranchal (Alteration of Name) Act, 2001 
d. The Uttranchal (Alteration of Name) Act, 2003 
e. Answer not known 
ve;jr; rl;lj;jhy; cj;juhQ;ry; vd;w ngah; cj;jufhz;L vd;W khw;wg;gl;lJ? 
a. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2006 
b. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2000 

c. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2001 
d. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2003 

e. tpil njhpatpy;iy  
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